Time : Three Hours]

Note :

(a)

(b)

(©)

(d)

N0 weverereeranerroressesses Total Pages : 05

MDE/M-18 4655
APPLIED PHYSICS
Quantum Mechanics

[Maximum Marks : 55

Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt the remaining four questions by taking one

question from each Unit.

What do you undetstand by “zero-point energy” of
a harmonic oscillator ? Using matrix mechanics
show that this energy is always non-zero, real, and
positive. 3
Show that the total degeneracy of a hydrogen atom
energy level having principal quantum number 7 is
2n2. 2
Why cannot an angular momentum vector fixed
along some direction in space ? 2
Deduce the necessary condition for the validity of
first Born approximation for scattering by a screened

coulomb potential. , 2

(3-61/9) 1.-4655 P.T.O.



(©)

(b)

(b)

L-4655

Comment whether hydrogen atom in ground state

will exhibit Stark effect. 2
Unit I

Work out the spectrum of allowed energies of
hydrogen atom by solving the radial part of the
Schrédinger wave equation. What are the boundary
conditions on the radial part of wave function ?

8

In ground state, the hydrogen atom wave function

2053267 a0

between the electron and the proton. 3

is Find the average distance

Consider a system described by a time-dependent
Hamiltonian EQV Give details of the Interaction
picture of studying the time evolution of the state
of the system. \ 7
What is Hilbert Space ? A state vector in energy
representation is oriented along one of the Hilbert
space axes. What would be the result of

measurement of energy for such a system ? 4

(b)

(©

(b)

Unit I1

Consider a particle of spin s = 1/2. Find the matrices

~

. A "
representing the operators : S;.5,. 5. and S7 in

a representation in sn:wowg.mN and S. are diagonal.
5

Calculate the commutators : 4
ﬁHL.dq H)LEI\W and ﬁ\wkw—”k”_

Justify the statement that spin does not have its

classical analogue. 2

Two parts of a composite system have angular
momenta j, = 1/2 and j, = 1/2. Determine
eigenfunctions of the total angular momentum
operators J> and wN and the corresponding
eigenvalues. 9

Show that :

(i

where |/, m > is a simultaneous eigenstate of [

and mn. 2

\

\
Jomy=0
/

\.WS\,Q = A,\.,§~.ﬁ»u

”

Js

[

(3-61/10)]-4655 3 P.T.O.



6. (a)

(b)

(b)

1.-4655

Unit [T1

Show that the Green’'s function associated with the

operator AQN +\«uv 1s given by : 7
G(r. )= 1 96?:.» w\lxﬁ
47 _\ —-r _

Using the above result of QT\, iv, find the

scattering amplitude for an elastic scattering process.
4

Describe the method of partial waves to determine
the differential and total scattering cross-sections
for an elastic scattering process. 7
Consider the elastic scattering of 50 MeV neutrons
from a nucleus. The phase shifts measured in the
experiment are §; = 95°, §, = wwou 8, = 35° 85 =35"
all higher phase shifts are negligible. Find the total

cross-section. 4

Unit IV

Formulate the first-order time-independent

perturbation theory for non-degenerate state to
determine the

energy eigenvalues and the

corresponding eigen functions. 7

(b)

9. (a

—

Explain the Zeeman effect without spin using the

perturhation tn2orn. 4

Construc: the 1otal wave function (including spin)
tor the clectronic system of the Helium atom by
ignoring the mutual coupling of the electronics.
What are the ortho- and para-helium ? 8
Why a system of identical particles cannot have
states of the types : ¢ = yg + yg and y, are,
respectively, the totally symmetric and anti-

symmetric wave functions. 3

5 100



Roll No. ...ucueeueiinvninercnnns Total Pages : 03

MDE/M-18 4656
ELECTROMAGNETIC THEORY
Paper 1I
Time : Three Hours] [Maximum Marks : 55

Note : Attempt Five questions in all, selecting one question

1. (a)

(b)

©

(d)

(b)

from each Unit. Q. No. 1 is compulsory.

What do you understand by homogenous and
isotropic Bo&sa. ? 2
Define attenuation factor and quality factor of a
wave guide. T3
State maximum power transfer theorem and
reciprocity theorem. 3
Why effective conductivity is increased due to the

presence of ions and electrons in a region ? 3

Unit I

Show that in a homogenous lossless medium the
assumption of sinusoidal time variations results in
space variations that are also sinusoidal. 5
Using Maxwell’s equations, obtain wave equation

—

for E and H for a conducting mexidum. 6

(3-18/11)] -4656 P.T.O.



(b)

(b)

(b)

(b)

L-4656

Define Brewster angle. Obtain an expression for
Brewster angle when electromagnetic wave is

incident obliquely on a perfect insulator considering

parallel polarization case. 5
State and prove Poynting theorem. . 6
Unit II

Discuss the salient features of equation of motion
for charged particles. 5
Describe the motion of a charged particle in a

magnetic field. 6

Obtain expressions for the field intensities for TE
waves between perfectly conducting parallel planes.

5
Derive an expression for attenuation factor for the

TE wave. 6

Unit I1I

Obtain expressions for retarded potentials in the
electromagnetic field in terms of current and charges.

5
Derive an expression for power radiated by half-

wave dipole. 6

7. (a) Explain the directional properties of dipole antennas.
5
(b) Discuss the effect of earth on vertical patterns of
antenna. 6

Unit IV
8. (a) Discuss the reflection of waves by ionosphere at
low frequencies. 5
(b) Describe the regular and irregular variations of the
ionosphere. 6
9. (a) Discuss the effects of earth’s magnetic field on
ionospheric propagation when the direction of
propagation is perpendicular to magnetic field. §
(b) Explain in detail the attenuation factor for
ionospheric propagation. 6
(3-18/12)1.-4656 3 100



8. (a)
(b)

9. (a)
(b)

L-4657

Unit IV

What is the need and advantage of producing fissile
materials from fertile one ? How does breading
helps produce fissile materials ? 6
Explain the detection mechanism of neutrons in
BF; counter. Why such counters cannot be used to
extract the energy information of the detected

neutrons ? 5

What are the distinct differences of a fusion reactor
when compared to a fission reactor ? What are the
major hurdles in having a fusion reactor as a
sustainable source of energy ? 7
Why the critically in size of a reactor does matter ?

4

4 too

Roll No. ccvereeeerernnee. Total Pages : 04
MDE/M-18 4657
APPLIED NUCLEAR SCIENCE
Paper III

Time : Three Hours] [Maximum Marks - 53

Note : Attempt Five questions in all. Select one question from
each Unit. Q. No 1 is compulsory. Use of scientic

(non-programmable) calculator is allowed.

(Compulsory Question)

1. (a) Calculate the threshold energy for Si?8 required to
make it a bare nucleus ? 2

(b) Justify the name “Surface Barrier Detector” given

to reverse Silicon p-n junction particle detector.

2

(¢) Why Ge based detectors are considered as better
candidate for gamma spectroscopy ? 2

(d) Why is it that delaved neutrons are mono-energetic

while the prompt neutrons have a distribution in

enegy ? 2

(e)  Justify the need 1o thermalize neutrons in energy for
fission process to sustain in nuclear reactors ? 3

(3-58/9) L-4657 P.T.O.



(b)

(b)

(c)

(b)

L-4657

Unit 1

Explain. how the enerey loss mechanism changes
for a heavy charged particle as its energy reduces

from high to medium and then medium to low

energy inside a medium ? 7
How the interaction of gamma radiation in a medium

is different from that of charged particle ? 4

Why the process of energy loss in a medium is
statistical in nature ? 4
Why the presence of a nucleus is necessary for the
pair production to take place ? 4
Find the shortest wavelength present in the radiation
from an X-ray machine whose accelerating potential

1s 50 kV ? 3
Unit I

What do you understand by term resolution ?
Discuss the factors affecting the resolution of a
scintillation detector. 4
How does one achieves a high electric field in a
GM tube with applied relatively low voltage. 4
Why a cooled Si(Li) has better resolution than the

one which is operated ar room temperature ? 3

3

b

(a)

(b)

(a)

(b)

(©)

(a)

(b)

List the desired properties of a good scintillation
detector. 5
A GM tube having diameter of anode = 0.2 mm
and of cathode = 2.0 ¢m is operated at 1 kV. If the
lifetime of the tube is 109 counts, what is the
maximum radial field in the tube and how long
will it last if used for 15 hr/week of 6000 counts/

minute ? 6

Unit 11T

In context of reactor physics, what does the famous
Fermi Age equation .mmm::w\ ? 3
What are the different reactions that can be used
generate neutrons ? 5
How does the energy loss of neutrons is scattering

compares for H and Pb ? 3

What information about the underlying reaction
processes can be inferred from the obtained angular
distribution of neutrons in a nuclear reactions ? 5
For 10 MeV neutrons, how many collision with
H,0 are required for it to attain the thermal energy.

6

(3-58/10)L-4657 3 P.T.O.
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MDE/M-18 4658
CONDENSED MATTER PHYSICS AND
NANO TECHMNOLOGY
Paper 1V

Time : Three Hours] Muﬁmﬁmwc% Marks : 55

Note : Attempt Five questions in zal, sclecting one question

from each Unit. Q7 No. 1 ‘s compulsory.

—

Compulsory Cucstion

1. (a) Show that the lattice wvibrations can always be
described by wave vector 'ving i» the first Brillouin

Zone. 3

(b) Why does band gap =ncrgy of quantum dots vary
with its size ? . ‘ 3

(¢) What 1s conductance guartum 7 2

(d) What do vou undersiand bv the term ballistic

injection ? 3
Unit 1

o. Describe the principle of ey lotron »esonance method for

determining the effective ruose i1 motads, Why cyelotron

resomiance i bservas converiently i semiconductors V11

275 L

m : PSS

L
1SN
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Work out the dispersion relation for lattice vibrations in
a crystal with fwo ato.us per primitive basis. Depict
pictorially the atomic &mEmomEon in the transverse
optical accoustical branches. 11

Show that T:m ard tleory of screening gives the static

2

dielectric constant o1 ; 1

37 £ — £
%& i Sk-ql2 \fﬁm
¢* Cdn g g2 " Bk+g/2
For @ election case, also show that in the long

wavelengll: Bmit. i.e. when QAA\«\

,(,)

kG o,
m Ot

hoadd

Amv \MHQ\M \ + 2

and

(b) The Linchard theor s gives Thomas-Fermi result in
the limit.

- Elucidate Langevin cquetions for particles executing the

Brownian motlion 11

4
Ev

ztermine the o
how L~@< ave oitt

m\( »fD\dm?O CH‘ ﬁ.

antum :Ff

AN

1d
o]

(a) The ground state of a interacting 1D electron gas is
dca:@,,\aa not to be a Fermi liquid. Comment. 3
(b)  Discuss the phenomenon of tunnelling for 1D case
through two identical barriers in series and obtain

the resonant Egm::ﬁ condition. 8

Unit IV

What are quantum well lasers ? Discuss its basic principle
with proper schematic. How is it different from quantum

wire laser ? 13

Explain the principle, working and applications of the

blue quantum well laser. 11

R ——




Roll No. ...cccvuvveecuercnnennn. Total Pages : 03

MDE/M-18 4659
ELECTRONICS-II
Paper V
Time : Three Hours] [Maximum Marks : 55

Note : Attempt Five questions in all, selecting one question

1. (a)

(b)

©
(d)

from each Unit. Q. No. 1 is compulsory.

What is the advantage of a synchronous counter
over a ripple counter ? 3
Explain the concept of noise immunity is digital
circuits. 3
Convert a JK-flip-flop into a D-type flip-flop. 3
What do you mean by simplification of Boolean

expressions ? 3

UnitI
Prove that : 6
(i) AM+w+oXN+w+OTM+O
(i) (A+C)(A+C)=AB+AC

(i) [AB(C+ BD)+AB]C=BC.

(3-19/6) L-4659 P.T.O.



(b)  Show that the following circuit works as a positive

NAND gate. | 5
12V
15K 22K
12V A s Y
B SSMM.
ov © Tiv

(a) State and prove DeMorgan’s theorem and also list
its importance. 6
(b)  Justify need of BCD codes in digital systems. How
one can convert BCD numbers into hexadecimal

one. 5

Unit IT

Describe the operation of an emitter coupled logic gate.
Also give its advantages and disadvantages over other
logic gate families. , 11

(@) Justify the need of one’s complement and two’s
complement with suitable examples. 6
(b) Define fan-in and fan-out in logic gate circuits. On

what factors fan-out of a gate depend ? 5

L-4659 2

Unit HI
6. Explain in detail ROM. Also give a brief account of its
possible applications. 11
7. .mxc_mms the working of a four bit series in-parallel out
shift register with the help of a suitable diagram. 11
Unit TV
8. Discuss the architecture of 80853 microprocessor using the
block diagram. 11
9. (a) Give a detailed account of I/O and machine control
instructions in 8085 microprocessor. 7
(b)  Explain the following instructions XCHG, LDAX
and SPHL. 4
(3-19/7) L-4659 3 100
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MDQ/M-18 5501
APPLIED PHYSICS
Paper |
Material Science-I

Time : Three Hours] [Maximum Marks : 55

Note : Attempt Five questions in all, selecting at least one

question from each Unit.
Compulsory Question

1. (a) How Copper pairs are formed in Superconductors ?
Explain. ] 2

(b) What is energy gap in superconductors ? At what
temperature it disappears and why ? 2

(¢c) What do you understand by ‘Coherence Length’® ?
Discuss. 2

(d) What do you mean by ‘Degree of Polymerization® ?
Explain by giving suitable examples. 2

(¢)  Explain why ceramic materials are harder yet more

brittle than metals. 3

(2-47/3) L-5501 P.T.O.



UnitI

2. (a) What.are Superconductors ? Explain giving
examples. Discuss the effect of isotopes on
superconductors. 6

{b) What do you understand by thermodynamics of

superconducting transition ? Explain. 5

3. What are London's equations ? Derive its solution and

discuss how it explains Meissner effect. 11

Unit II

4, What do you understand by Josephson Tunnelling ?
Explain DC. Josephson effect and explain its physical
significance. 11

5. (a) What are high temperature superconductors ?

Explain giving suitable examples. 6
(b) Explain the phenomenon of Macroscopic Quantum
Interference. What is its importance ? 5

Unit 111

6. (a) Discuss the effect of temperature on the response
of polymers to be applied stress. 5

(b) What are polymers ? How will you differentiate
between amorphous and crystalline polymers ?

Explain by giving suitable examples. 6

L-5501 2

(b)

(b)

(b)

&58 do you understand by the ‘molecular weight’
of a polymer ? What is molecular Eomm?
distribution ? How the molecular weight of a given
polymer can be computed ? Explain. 5
What' are themoplastics and thermosets ? Explain
by giving suitable examples. Describe the atomic

structural arrangement of thermoplastics. 6

A

Unit IV

What do you mean by engineering and conducting
polymers ? Describe the structure of these two
classes of polymers. 6
Discuss the factors on the basis of which engineering

and conducting polymers can be differentiated. 5

What are Ceramic Materials ? Discuss the different
types of Ceramic materials based on their structure.
Describe their applicability to various applications
dependent on their mechanical properties. 8

Why does Cement become hard on addition of

water in it ? Explain. 3

(2-47/4) L-5501 3 100
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MDQ/M-18 5502
APPLIED NUCLEAR TECHNIQUES
Paper 11
Time : Three Hours] [Maximum Marks : 55

Note : Attempt Five questions in all. Select one question from
each Unit. Q. No. 1 is compulsory. Use of scientific

(non-programmable) calculator is allowed.

AOoEc:,_moQ Question)

1. (a) What is Duane-Hunt law ? 2
(b) Give the principle of Van de Graaff Generator. 2

(¢) What do you mean by Brems Strahlung radiation ?

2

(d) What is delayed y-ray neutron activation ? 2

() What is wavelength dispersive XRF ? K

Unit I

2. (a) Explain the basic principle and working of cyclotron.
How does it differ from microtron ? 5+3

(b) Give the medical applications accelerators. 3

(3-5713) L-5502 , P.T.O.
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(b)

(b)

(b)

(©)

(b)

(©)

L-5502

Describe the basic principle and working of proton
synchrotron. Compare it with electron synchrotron.

6+3
Why carbon stripper fail are used in pelletron

accelerators ? _ 2

Unit I1

Discuss the basic principle, working and
instrumentation involved in charged particle induced
X-ray emission (PIXE) spectrometry. 8
What do you mean by microbeam PIXE ? 3

What are Coster Kronig Transition ? Discuss by
giving examples. | : 4
memmb,Sm features of K- and L-spectra produced
in PIXE. | 4

How the beam current is measured during PIXE ? 3

Unit I1X

Describe various sources of X-rays. 3
Discuss the basic principle and working of X-rays
tube. 4
What are the merits and demerits of XRF
technique ? 4

7. (a) Discuss the basic principle.  working  and

instrumentation involved in energy dispersive XRI'.

8

(b) What are matrix effects in XRF ? 3
Unit IV

8. (a) Explain radiochemical and instrumental neutron

activation methods. 7

(b)  What do you understand by accuracy and sensitivity

of neutron activation analysis (NAA) ? 4

9. (a) Describe in detail the various applications of neutron

activation analysis. 9

(b) What do you mean by neutron energy distribution ?

2

(3-57/4) L-5502 3 100
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MDQ/M-18 5503
COMPUTATIONAL PHYSICS
Third Paper

Time : Three Hours] [Maximum Marks : 55

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.

1. (a) Evaluate the values of :
() 1=2+ 5471
(i) J = 2%*3*%402
(i) L = (10.LT.20.AND.10.GT.5) 3

(b)  Write the rule to round off numbers and round off
1.6583 and 30.0567 to four significant digits. 3
(¢) Explain the necessity for pivoting in Gauss
elimination method to solve simultaneous linear
algebraic equations. 2
(d) Discuss the geometrical interpretation of Taylor

series method of numerical differentiation. 3

(2-21/9) 1L-5503 P.T.O.



(b)

(b)

(b)

L-5503

Unit I

Discuss the functions of input unit of a computer
system. Give brief description of various input
devices. 5
What is the syntax of DO-loop in FORTRAN ?
Write a FORTRAN program to sum first hundred

even natural number. 6

How one dimensional arrays are treated in
FORTRAN ? Using the concept of one dimensional
arrays, write a FORTRAN program to arrange a list
of numbers in ascending order. 5
Using the concept of FUNCTION subprogram write
a FORTRAN program to evaluate : 6

y HM_ooxw +N5mN +4x; -5

i=l
Unit 11

How error propagates under mathematical operations
of addition, subtraction, multiplication and division ?
5

Explain the iteration method to find the roots of

equation f(x)=0 and hence find a real root of
the equation 3 —]— x2 on the interval [0, 1] with

an accuracy of 1074 6

5. (a) Using Newton-Raph:on method. find a real root of
equation Eiinx 2 correct to three decimal
places on interval , T 3
(b) Obtain Newton's forward difference interpolaticn
formula. Using it finl the cubic polynomial which
tables the following values : 6
y(1)=24. y(3) =120 ¥(5)=336 and y(7)=720
Unit 11T
6. (a) Write an algorithm to compute the product A = BC.
where B and C are matrices of sizes n » m and
2 5 -2
m x p respectivelv. If B=l-1 0 0 __ and
| 203 4
35
C=\1 0} find A = BC. 6
2 6

(b) Find the inverse of the following matrix 5

2031

A=0 15 25

0 0 18
(2-21/10)1.-5503 3 P.T.O.
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(@) Solve the following set of simultaneous linear

algebraic equations by Gauss-Jordan method - 5

Xt X, + uxw - ‘wf = -0

Xp+F 2o Fxy -y =2

[53]

(b} Determine the largest eigenvalues and the

corresponding eigenvector of the matrix 6

Unit IV

(a)  Obtain Newton's forward difference formulae for

computing first and second order derivatives

numerically.

N

(b} Using the following table of values of x and A
obtain dy/dx and d?y/dx at x = 2.2 - 6

x| 1.0 1.2 14 1.6 1.8 20 | 22
v | 2.7183 | 3.3201 | 4.0552 | 4.9530 | 6.0496 7.3891 190250 |

(@) A solid of revolution is formed by rotating about
the x-axis the area between the x-axis, the lines

x¥=0and x = 1 and a curve through the points with

503 4

(b)

the tollowing co- -ordinates

T 05 07 jj

TR 9896 | 0.958) | 0.9089

o IL\I.

Istimate the volume of the solid formed. giving th
-stim | | . a
answer o 3-decimal places using Simpsons rule.

/ te
Explain Legendre-Gauss quadrature 1o €V alua
Give its geometrical

5

definite integral numerically.

interpretation.

< 100
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MDQ/M-18 5504
FIBRE OPTICS
Paper IV
Time : Three Hours] [Maximum Marks : 55

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.

1. (a) Give the importance of the optical fibre.
(b) What is modified chemical vapour deposition
technique ?
(c) What are dispersion losses ?

(d) What are repeaters in fibre optics ?

Unit I

2. Give the basic structure of optical fibre. How light

propagates through it ? Discuss numerical aperture and

acceptance angle in it.

3. What do you understand by meridional and skew rays ?
Give number of modes and cut-off parameters of fibres.
Discuss single mode propagation in optical fibres.

2-21/12)1-5504 P.T.O.

Unit 1T

4. Discuss step index monomode fibres. How graded index
multimode fibres are better than monomode fibres ?

Discuss vapour phase axial deposition technique.

5. How are fibre cables constructed ? Discuss strength
member, minimum bend radius and losses incurred during

installation of cables and subscriber service.,

Unit 1

6. Explain measurement of numerical aperture and its related
terms. How are scattering losses and microbending losses

measured ?

7. Discuss near field scanning technique, transverse offset
technique and variable aperture technique for the

measurement.

Unit IV

8. Explain high performance transmitter and LED analog

transmitter in detail.

9. What are Digital Laser and Analog Laser transmitters ?
How analog to digital conversion and digital multiplexing

is used in transmitters ?

L-5504 2 100
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MDQ/M-18 5505

COMMUNICATION SYSTEM
Paper V Option 2

Time : Three Hours] [Maximum Marks : 55

Note : Attempt Five questions in all, selecting at least one

question from each Unit. Q. No. 1 is compulsory.

1. (a) Write a short note on Unit step function and Unit
impulse function. How we can obtain one from
another ? |

(b) Explain Shannon-Hartley channel capacity theorem.

(©) What do you understand by Geo synchronous and
Geostationary orbit ?

(d) Explain, what do you understand by Local area
network ? 11

Unit I

2. Explain the advantages and disadvantages of Digital
communication as compared to Analog communication.
11

3. For what purpose we are using Sampling ? Explain the
sampling theorem. 11

(3-65/3) 1L-5505 P.T.O.

Unit IT

4. Explain Amplitude shift keying method of digital
modulation. With suitable diagram explain ASK modulator

and ASK coherent detector. o1

5. What do you understand by Quadrature Phase shift
keying ? Explain modulator circuit used for Quadrature

Phase shift keying. 11

Unit III

6. What do you understand by Error Control Coding ?

Explain various error detection schemes. 11

7. Write short notes on the following : | 11
(a) Facsimile
(b) Satellite altitude.

Unit IV

8. Write a detailed block diagram explain the working of

monochrome television transmistter. 11

9. Write short notes on the following : 11
(a) Automatic Exchange Switching Systems
(b) ISDN.

L-5505 2 100
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MDE/M-18 4679
MATHEMATICS
MM-407

Advanced Abstract Algebra-IT

Time : Three Hours] . [Maximum Marks : 80

Note : Attempt Five guestions in all, selecting one question
from each Section and the compulsory questions.

‘Section 1

f. (a) Prove that a finite p-group of order p” is Nilpotent
of class at most n. 8

(b) Prove that subgroup of finitely generated Abelian
group is again finitely generated. 8

2. (a) Give an example of a group which is not Nilpotent.
7

{(b) State and prove three subgroup lemma of P. Hall.
9

Section 1§

3. (a) ItV is dimensional over F and if T e A(V) has all
its characteristic roots in F. then prove that T satisfies
a polynomial of degree n over F. 10

(3-63/14) .4679 PT.O.



(b)

(b)

6. (a)

7

1.-4679

TRETX

is Nilpotent and find its invariants and Jordan form.

3
Prove that S and T in A(V) are similar in Ag{V)
if and only if they have the same elementary

divisors. 8
Unit 131

Give an example of three R-submodules A, B, C of
an R-module M such that : 3

ANnB+CO#=ANnB+A N0
Let A and B be R-submodules of R-modules M and
3

N, respectively. Prove that

MxN M N

e X e

AxB A B

State and prove Schur’s lemma. b

[

(a)

o~
oy
pe

Srate

(@)

(b

{c)

(d)

o~
[¢]
—’

[

ot
e

.

(3-63/15) -4679 3
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rrove et every submoduie and every homomorphic
image of an artinian module is artinian. 10
Frove that a subring of a noetherian ring need not

be Noetherian. )

and prove Wedderburn-Artin Theorem. 16

{Compulsory Question)

If G = {e}, prove that G is Nilpotent of Class 0.

Prove that : 2
la, 8] = [b, 4]

When a subspace W of a vector space V is said to

be mvanant under T e A(V) ? 2

Define basic Jordan block belonging to A.

Define finitely generated module.

Define free module

Show that Z is arfinian as a Z-module.

o o b Y

State Hilberi basis theorem.

1,600
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MDE/M-18 4680
MATHEMATICS
MM-408
Real Analysis-II

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least one

(b)

(b)

question from each Section and the compulsory

question.

Section I

Show that the outer measure of an interval is its
length. 10
Let {E,} be an infinite decreasing sequence of

measurable sets and m(E;) < co. Show that : 6
: [0 0] e 0]
m JE; |= 2 m(E;)
i=1 i=1

Give an example of a set which is not Lebesgue
measurable. 8
Show that a measurable function can be approximate

by a sequence of simple functions. 8

(2-55/3) 1L-4680 P.T.O.



Section 11

3. (@) State and prove Lusin's theorem. 7
(b) Let f be defined and bounded on a measurable set
E with m(E) < . Show that :

Ew ._.€CQ Q.xum_% ._.GCQ mw
Sy E 205

for all simple function ¢ and v; if and only if fis

measurable. 9

4. Show that a bounded function defined on [a, b] is Riemann

integrable if and only if £is continuous almost everywhere.
16

Section 111

5. (a) State and prove monotone convergence. Show that
this theorem does not hold good for a decreasing

sequence of functions. 8

(b) Show that a function J 1s of bounded variation on

[a, b] if and only if f is the difference of two

monotone real-valued functions on [a, b]. 8

6. Let f be an increasing valued function on the interval

[a. b]. Show that fis differentiable a.c., the derivative £

is measurable and ﬁ S (x)dx< f(b)- f(a). 16

L-4680 2

Section IV

7. (a) State and prove Jensen's inequality. 7
(b) State and prove Minkowski's inequality. 9
8. Show that the L spaces are complete. 16
Compulsory Question
9. (a) Show that the set [0, 3] is uncountable.
(b) Define a Gg set. Give one example of it.
(¢) Give an example of a non-measurable function.
(d) Give an example of a function which is Lebesgue
integrable but is not Riemann integrable.
(e) State (only) Egoroff's theorem.
(f)  State (only) Vitali's covering lemma.
(g8) Show that bounded convergence theorem need not
be true in case of Riemann integrals.
(h) State (only) Riesz representation theorem for

bounded linear functionals in [* -spaces.. 8x2=16

(2-55/4) 1-4680 3 1,600
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MDE/M-*38 . 4681
COMPUTER PROGRAMMING THEORY
MM-409
Time : Three Hours] [Maximum Marks : 80

Note : Attempt one question from each of the Sections I to IV.

Sectior V' is compulsory. All questions carry equal

marks.
Unit ©

1. (a) What are the major steps in the anatomy of a
FORTRAN-90 source program ? Explain with a
examples program. : 7

(b) Write a source program to convert spherical polar

coordinates inte tne Cartesian form. 5

(¢, Expiair 10z domalr aliowed and working of the
functions . | 4
i LOC

(i) CMPLX
(iii) SQRT
(iv) MOD.

(3-74/8) 1.-4681 P.T.O.



2.

3.

(a)

(b)

Write program to check if the three lines with
given lengths make a triangle or not. 6
‘Write source program to calculate income tax on
any given income with rates - Nil, upto income 3.0
lakhs; 5% on income in 3 to 5 lakhs; 20% on
income in 5 to 10 lakhs; 30% on income above 10
lakhs. Apply the 3% surcharge on the payable

income tax as well. - 10

Unit II

Explain the importance of SELECT CASE construct.

Hlustrate its syntax and the rules to be followed. Write an

example program to show that replacement of SELECT

CASE construct with IF....... ELSE construct, 16

(a)

(b)

1-4681

Write the generalized syntax to define a function
subprogram. Discuss the rules to be followed in
this definition. 10

Use internal subprogram to verify : _ 6

Soan® =[S0

(b)

(©

(b)

(3-74/9) L-4681 3

Unit III

Discuss the ﬁoSEo points, which should be kept in
mind while using FORMAT specification for PRINT
statements, 8
Use mxms%_.mm to illustrate the working of TRIM()
and >U~Cm%h© functions. A
Write a source program to insert a given string at

the specified location in another string. 4

Write a source program to check a given string as
a palindrome, through the use of a subroutine
subprogram. 8
Using a derived data type for data, write a source
program to check a company employee for being a

regular one or on the probation of two years, 8

Unit IV

In the generalized syntax for opening a direct access
file, explain the various options available in

FORTRAN-90. 8

P.T.O.



(b)

(c)

(b)

(b)

(c)

L-4681

Explain the meaning of various integer values used
in the following statement - 4
READ (20, 50 REC=roll, ERR=70, name, result

Use an example to explain the declaration and
assignment for pointer to a drived data type variabie.

4

Write a source program to search a particular record
from a sequential file, which is created in this
program to store the exam records of all the students
in class. 12
Use COMPLEX data type to write program that
illustrate the arithmetic operations between two

complex numbers. . 4

Unit IV

What are requirement for a sequence of characters
to be a valid identifier ?

Relate the functions INT() and NINT(), for their
use in FORTRAN-90.

What can be the meaning of x(5) in aF ORTRAN-90

statement ?

(d) Explain the working of functions ACHAR() and
IACHAR() in FORTRAN-90 program.

(e)  Give an example of an array of a derived data typé.

(f)  Give an example of using a derived data type into
another.

(g) Explain the meaning of the following statement of
FORTRAN-90 :
INQUIRE(UNIT=20, OPENED= op_stat, NAME-
filel).

(h)  Describe the working of the function ASSOCIATED
IN FORTRAN-90. 16

(3-74/10)L-4681 5 1,600
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MDE/M-18 4682
COMPLEX ANALYSIS-II
MM-410

ﬁm:m : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in ali, selecting at least one
question from each Section and a compulsory questign.
All questions carry equal marks.
Section [
1. State and prove Riemann mapping theorem.

2. (a) Define Gamma function and find the value of
Euler’s constant 7.

(b) State and prove Weierstress factorization theorem.

Section 11
3. (@) IfRe(z) > 0 then prove that :

- 1
t(z)=]]| 0
.:Hf 1!%: /
where {p,} is the sequence of prime numoers.

(b) State and prove Miitag-Leffier’s theorem.

(3-80/10)1.-4682 . P.T.O.



(b)

5. (a)

(b)

(b)

(b)

L-4682

State and prove the theorem of uniqueness of
analytic continuation along a turve.

State’and prove Schwarz reflection principle.

Section I

Define harmonic functions on a disk. State and
prove mean value theorem for harmonic function.

State and prove Harnack’s theorem.

Define canonical product. Also state and prove
Poisson-Jensen formula.

Let G and Q be regions such that there is a one-
one wsm_v&o function of G onto Q. Let ¢ € G and
u = f(a) if g, and r, are the Green’s functions for

G and Q with singularities ¢ and a_respectively

then show that g,(z)=r, (7(2)).

Section IV

If f(2) is an entire function of order and convergence
exponent ¢ then show that ¢ < p.
State Hadamard’s factorization theorem and use it

to show that :

(b)

(b)
(c)

(d)
(e)

®

(2)
(h)

(3-80/11)L-4682 "3

State and prove Bloch’s Theorem -

State and prove Montel-Cara Theordory theorem.

(Compulsory Question)

State Hurwitz’s theorem.
Show that

h=1
Define Riemann zeta function.
Define analytic continuation and function element.

Show that :
P, ,A1®v =P, Amv
Construct the canonical product associated with
sequence of negative integers.
Find the order of cosz.

Define univalent function.

1,600



(b)

(c)

(d)

(e)

()
(2)

(h)

L-5585

Give an example of a non-measurable J such that
v\m 1s measurable.
“Convergence a.e. does not always imply
convergence in measure.” Prove or disprove this
statement.
State (only) Riesz-Weyl theoren.
When a sequence of integrable functions is said to
be
(1)  Fundamental in mean
(i)  Convergent in mean ?
State (only) the Radon-Nikodym theorem.
Let / be a continuous real valued function on X,
and C is a real number. Show that :

A={x: f(x) 2 ¢
is a closed Gg.
State (only) a partial converse to the Fubini theorem.

8x2=16

4 1,900

RO NG covvveeirriiicaenn, Total Pages : 04

MDQ/M-18 5585
GENERAL MEASURE AND
INTEGRATION THEORY
MM-507

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least one

question from each Section and compulsory question.
Section [

1. If v is an outer measure on a hereditary c-ring H and M
is the class of all v-measurable sets, then show that :
() M is a o-ring

(i) If E, is a sequence of mutually disjoint sets in M,

whose union is E, then <A>DmvuM<A>)m=v

n=}
for every A in H.

(iii) The restriction of v to M is a measure. 16

2. (a) Show that a function /1 X > R is measurable if
and only if (i) N(f) is measurable, and i) £~ (M)
is locally measurable, for every Borel set M. 8
(2-53/10)1.-5585 P.T.O.



(b) If A is a sequence of locally measurable sets such Section II1

that
5. State and prove Fubini theorem giving full details. 16
\V: =X e
il 6. (a) State and prove Lebesgue decomposition theorem. 8
and if X, f is measurable for each n, then show (b) Iffis integrable with respect to u, show that Hyis
that / is a measurable function. AC with respect to p. State clearly the results used
by you. 8
Section I1
A Section IV
3. (a) State and prove Egoroff's theorem. 10
(b) Iff, — fa.u., then show that /. — fa.e. If moreover 7. (a) Define regular measure. Show that every Baire
the f, and f are measurable, then show that L= f measure is regular. ‘ 8
. 6 (b) If C is a compact Gy, show that there exists a
4. (a) For a measurable function £, prove that the following sequence f, in L such that f, v Xc. 8

conditions are equivalent : 8 )
. : 8. (a) If u, and p, are regular Borel measures on X, and
(i)  fis integrable . .
T is a homeomorphism of X such that :

_.\A&E = .m‘\ du,
for all fin L, then show that u{TYE) = 1,(E) for

(ity | f] is integrable
(i) f* and f~ are integrable.

In this case, show that :

_ _ every Borel set E. 3
| fanf< flf]an o , . |
{(b) State and prove Riessz-Markoff theorem. 8
s A Vel , B =
(by Iff, 7T fae. where the Jom =123 ... } are
integrable, 7 is rieasurable and !
show that 7 - 9o la) lasse

L-8585 2 , (2-831831,-5585 3 CREAD,

Lo
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MDQ/M-18 5586
PARTIAL DIFFERENTIAL EQUATIONS
MM-508
Time : Three Hoursj , [Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least one
question from each Section and the Q. No. 1 which is

compulsory. All questions carry equal marks.
Compulsory Question

1. (i) Define order of a partial differential quation and its

classification.

(ii) Write transport equation, and stat what idea you get
from it in solving it.

(ili) Statc the properties of Green's function.

(iv) Write the characteristics of :

(b(u(x), x).Dulx) + C(x, u(x)) = 0

{(v) What is reflection method ?

(vi) Write the properties of Fourier transform.

(vii) Write d’Alembert's formula, and explain its physical
meanings.

(viii) Define hamiltonian and Hamilton's canonical

equations ?

(2-55/8) 1.-5586 P.T.O.



Section

u, + bDu + 3u =0 in R™(0, )

~
<

=
f

State and prove the Liouvill's theorem.

DProve that

ean value formula for Laplace equation.

on R"<{0}

~Au=f inU

u=g on U

has a unique solution by using maximum principle.

Section 11

Derive representation formula for
equation by Green's function

Derive mean value formula for heat eqguation.

A =0 in B° (0. »
aB, r

o

=g on

ny using Green's {unction.

¥
- &

Show that Green's function s

svometric.

sclving Poisson's

Section 11}

Derive Fider's-Poisson-Darboux

initial value problen

— Au

i
<

Hy

v=gou, =

-~

fa)  Solve :

u=g

using characteristics.

Section IV

cquations and solve the

on R'x{0]

in U= {x,>0}

on ' ={x,=0} = 0U

(b) Write a note on Lagendre Transformation

() Define Fourier Transformation and its inversion aleo

using transionn methcd,

Write notes or the “ollowing @

P Al 1Y ny "M
iy COole How Transform

s

() viane and meve

b ¢
—
o

R#

ng wave solutions,




(b)

8. (a)

(b)

9. Write a full note on the following :

(2)
(b)

L-5591

Discuss the motion induced in an infinite liquid by

. . . . . Roll NO. veerenneerenncncinsens Total Paees ; 04
an infinite row of parallel rectilinear vortices of the ,
same strength K at a distance apart. MDQ/M-18 5591
Find the path of a rectilinear vortex in an angle MATHEMATICS
"between two planes to which its is parallel. MM-510 (Option A
) Fluid Mechanics-il
Unit 1V
Time : Three Hours] . [Maxinun Marks 0 873
Explain, what do you mean by boundary layer ?
Obtain laver eguations. _ Note : Attempt Five questions in all, selecting ere guestion
Write a note on Karman’s integral condition. from each Unit. Q. ™o. 1 is compulsory. All questiois

carry equal marks

Buckingham pi-theorem

. _ Compulsory Question
Dynamical smilarity. ¢ £ yQ )

i. (a) What is Sircam Function 7
(b) Define Doublets.
(¢} Cyclic and acyclic irrotational motion, explain.
(d) Stokes stream functions. explain.
(e) What is De’ Alembert’s paradox ?
(f) * Define rectilinear vortex and vertex filament.
(z) What is Reynolds Number ?

(h) What is Displace Thickness ?

4 1,250 (3-80/5) 1L-5591 P.T.0.



Unit I (b) Discuss the motion for which Stokes® stream

: function is
2. (a) Derive the equation of continuity in spherical polar

1. 4 o 271 .. 2
. w==Viar roOmml\}T_::@“
coordinates. _ > | :
(b)  What arrangement of sources and sinks will give where 7 is the distance from a fixed point and 6 is
) . 1Y the angle. this distance makes with a fixed direction.
rise to the function w =log nll; ? Draw a rough =
z .

N . ) ) _ 5. (a) State and prove that theorem due to Blasius.
sketch of stream lines in this case and prove that _

L . . (b) If an elliptic cylinder of semi axes a, b filled with
two of them subdivide into circle » = 1 and the axis
; liquid, rotates with a uniform angular velocity about
of y.
4 its axis, show that the kinetics energy of the liquid

2. Amv State and prove Thomson circle theorem. contained is less than if it were BO/\ADM as a solid

: f st 1 . - : 2 2
(b) Two sources each of strength m are placed at the i1 the ratio in the ratio Amm |@Nv “AQN +®Nv .

points (-a, 0) and (a. 8 and a sink of strength 2 m

is placed at the origin. Show that the stream lines Unit 111

2
202 222, .
are curves Aw ) v =d T S Q Ao a 6. (a) A sphere is moving in a liquid at rest at infinity

parameter. Also find fluid speed at a point. find the velocity potential and lines of flow.

(b) The liquid is contained in the intervening space

Unit 11 between two spheres of radii @ and b (a < b) The

: . . . impulsive forces are so applied that the inner sphere
4. (a) Determine the stream function and velocity potential P PP P

o ) . o starts moving with velocity U and the outer with
when an elliptic cylinder moves in an infinite liquid
) ) . . velocity V in the same direction. Determine the
with velocity U parallel to major axis of the cross- ) ) o )
: velocity potential of the initial motion.
section.

L-5591 2 (3-80/6) L-5591 3 P.T.O.



(®

(2)

(h)

(Compulsory Question)

exXpie,

If K(P, Q)=K, +¢K, +QNWN +... : then

.‘.
K;=7. 2

Define shifting properiy of Dirac-delta function. 2

‘The final value problems in ordinary differential

equations always converted into 2 equations. 2
Define the Jump discontinuity of the kernel K(S. 7).
- 2

Prove that the Green’s by given in the equation

|<uQumAxlm.v,Q\mno is symmetric. 2
Prove that : 2
Gy
[1-K(P)]
¥ S
~t
Find Q(P) for 5= [ g 2
0
S
If sinS= [Jo(S—1)g(n)dl then g(S)=Jy(S). 2
0

4 1,250

| 2071 B YOO

MDQ/M-18 5592
MATHEMATICS
MM-510 (Opt. ii)
Boundary Value Problems

Total Pages : 04

»

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, seie

question from each Section inciuding =

question. All questions. carry equal marks.

Section 1

1. Solve the self-adjoint initial value problem : i6
( \
LpD 1 gy =F(s)
dS\ dS)

wa) =0, ya) = 0.

2. (a) Tind the Green's function for : 8
d*y _dv
2L 484387 -1)y=0
ds? das -

with end conditions ¥(0) = 0, »(1y = O

. (3-81/3) L-5592 v P.T.O.



(b)

3. (a)

(b)

(b)

Transform :6_ boundary volue problem

v(0) = y'()) = 0. into an integral equation.

d?y’

ds?

«

.

Section II

2y |=F(s)

8

Find the integral representation formula for the

Poisson equation :

Solve :

with — =

-V = 4np
. Ou
with #|S=1. —| =0
@3 S
QN: =0
ou ) )
S5 using Green’s function.

dan &

8

Discuss the Torsional oscillations of an elastic half-

space.

Obtain the Poissen integral formula.

(1)

Section III

Prove that :

Q(P) =

K(P)

(=K (P)

8
8

(i) Find the resolvent kernel of the integral
equation. . 4

N

g(s)=F(s)+ [(s=1) gyt

0
(b) Solve
1
t g(t)dt
fls)=2 [ L80A
s ANN - mwv
using Laplace transform method. 8

6. Explain two-part boundary value problems and hence

solve. . 16
e
. [t0@) [1,[Pp) 3y (PryaPar = Qp
0 0
Section IV

7. (a) Discuss the perturbation method when the kernel
Wﬁw Ov is only of the form AWO +>v. 8

(b)  Two kinds of linearized equation governer the flow

of an sincompresssible viscous fluids : Stokes and

Oseen equations. Discuss steady flow. 8

8. Explain the theory of diffraction using perturbation
techniques and hence solve the exapmle : The problem of
the diffraction of a plane wave by a soft sphere. 16
(3-81/4) 1.-5592 3 P.T.O.



Roll No. ..., Total Pages : 03
MDQ/M-18 5595
MATHEMATICAL ASPECTS OF
SEISMOLOGY

Time : Three Hours]

Note :

1. (a)
(b)

(c)
(d)

(e)

(H
(2

()

MM-511 (Opt. i)

[Maximum Marks : 80

Attempt Five questions in all. Q. No. 1 is compulsory.

Attempt one question from each Section.

Give general form of a progressive wave. 2
Find wavelength and frequency of the wave
® =6cos 2x + 3y — 4z — §). 2
What is phase difference between two waves ? 2

Find the angle of reflection of SV wave in terms of

the angle of incidence of incident P wave. 2
What is an Aftershock ? 2
Define focus of an earthquake. 2

Out of the two elastic waves, that can propagate in
an unbounded elastic medium, which one is
dilatational wave and which one is equi-voluminal
wave ? Justify your answer. 2

State principle of superposition. 2

(3-83/7) L-5595 ; , P.T.O.



Section I

(a8  What are Plane Waves ? Obtain the general form of
plane waves. 8

(b) Find stationary type solution of the wave equation

0% % % 1 6%
2t ot T 7.
ox® oyt oy ¢ ot

(a) Discuss solution of inhomogeneous wave equation.

10
(b) Sol mme _mwe h th 0 wh 0
olve —— =575 such that § = 0 when x =
x?  ¢* or? ¢
and when x = 1. 6
Section II

(a) Explan Snell’s law of reflection. 6
(b) Derive period equation of Rayleigh waves. 10

An incident P wave strikes the plane boundary between
two liquid half-spaces. Obtain reflection and refraction
coefficients. Discuss special cases also. 16

Section 111

Solve the Lamb’s problem when a periodic line source is
acting normal to the surface of an elastic sclids half-
space. Obtain the integral expressions of the surficial
displacements. 16

L-5595 2

7.

Formulate a three dimensional Lamb’s problem and explain
that how is that problem solve. Derive expressions of
radial displacement, normal displacement, tangetial stress

and normal stress in terms of the displacement potentials.
16

Section IV
Explain Kirchhoff’s solution of the wave equation. 16

(a) Write note on the location of earthquakes. 8
(b) Explain seismic moment. 8

(3-83/8) 1.-5595 3 1,650
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Roll No. ...... cessesnees Total Pages : 03

CMDE/M-18 4738
HUMAN RESOURCE MANAGEMENT
MC-201
Time : Three Hours] - [Maximum Marks : 80

Note : Attempt Five questions in all. First question comprising

of short questions is compulsory.
FA U T F OIW AN | W wewm 1 e
g1

1. Answer to following questions should not 150 words :
(a) Distinguish between human resource management
and human resource development
(b) What is job specification ?
(c) What is Outplacement ?
(d) What is layoff ?
(¢) What are the benefits of Employer Empowerment ?
(f) What are the benefits of job stress management ?
: 6x4=24
frafafea s % W 150 o= A D
(1) AFE HEEA YU qeT 9Hd g9eE fae s
HifT |
(7) = faferdido w1 2 2

(2-47/7) 1.-4738(TR) P.T.O.



() 9m@-T9 | 8 2

(%) Bt @ 7 7

() wH=El v oy g ¥ 9
(F) 8 ™= 9579 & o9 71 §

Discuss the various functions of a human resource manager
in a business organisation. 14
MR W1 W WA GO YauE @ fafes w5l a

U FIfFT |

Discuss the factors influencing human resource

management due to the dynamic business environment. 14
SEAHF AR TR F HRY TEE GO Ty
FAIfEd FH 91 FREH w1 qU Hifeg |

Explain the meaning, features, objectives and process of
human resource planning. Also discuss the challenges

involved in it. 14

T YT ST e, e, Igival aen v w5
U FINC | 3w GARET w1 avi s

What is Employee Separation ? Explain its various forms.

14
FHAI FATE R 2 TS v wmed @ avi
ST |

L-4738(TR). 2

6. Discuss the importance of Executive Development in

contemporary business environment. Also explain different

methods of developing mangers. 14

ﬁﬁﬂ%ﬂ&ﬂzﬂgmﬂimﬁm%ﬁaﬂﬁ
U R | e g ® il adew @ s aoi

HIfT |

What is Quality of Work Life ? Explain the various
factors affecting it in a business organisation. 14
Fr ST R w2 =R g § T g
FH O fafe= wReE W= U I |

What is Job Satisfaction ? Explain the various factors
affecting employee job satisfaction in an organisation.
Also discuss its benefits. 14
Fr Hfes ﬁwwnﬂﬁ:ﬁmﬂj@ﬂmﬁmﬁg
ﬂngﬁm%mﬂ@?ﬂﬂzﬂﬂﬂrﬂ@m | 39&
e w st avia @i |

(2-47/8) 1-4738(TR) . 3 3,400
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CMDE/M-18 4739
INTERNATIONAL BUSINESS
ENVIRONMENT
MC-202

Time : Three Hours] | [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Fol e wei % S A9 | weE "em 1 s

2

1. Answer the following not exceeding 150 words each :
(a) What is the importance of international business ?
4
(b) Discuss the nature of Multinational Oo:uop)maosm.\ 4
(¢) What are different types of technology transfer ? 4
(d) What are the reasons behind the failure of
UNCTAD ?, 4

(¢) Why do countries enter in international commodity
agreement ? 4

(f) What is the contribution of central bank in foreign

exchange markets 7 4

(3-30/1) L-TR-4739 . P.T.O.
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(&) i
(%)

(2) HFers 3 TET Y = w3 I |n_. :

(z) =W B e e T e
(W) FEEl 5T T o9 ow=m g% T e A4reEd

What 1s Toterme Vhy s it important 1o

study soclu-cultural environiment of a country ? 14

TN w7 IW F AMIAE-AEaE amE

ERC 2 RE T I Al e LT

hias become the backbone of Indian

ing done by Governmenti

=

Economy.” Elucidate, What are b

of India in this

How did WTO come into

contribution of WTO in werld economy 2 Analvse

critica

.’_:
[
[
oL

N N o~

FEE (WTO) iy § &9 3 7 5y

WTG & =

AN G Hen

i

X

Dricuss the nature. objectives. organisational  structure
functions of IMF. , A 4
S HW) FHT UFM, TEEvE, HSAHE
TEE gE BT HT A0 T |

Vhat is the rationale  behind  regional economic

ceoperation ? Also discuss difierent types of regional
ceonomie cooperation with examples. 14
AT YE WEEm ® We P 9% € 7 THH TEA A
CREIY ﬁ.ﬂmﬂ mdj

"NAFTA is the biggest trading block at international
feel” Comment. How is it win-win for all the member

intries 7 . 14

St N
FNTF

foreign exchange risk. What is its nature ? How

exchange are managed now-a-days ? 14

aﬁﬂi%ﬁﬁﬁﬁj~%ﬂﬁ%mﬂ

s sreEe faeeh faftea @ yoey 39 ey s o1 & 0
(3-30'2} L-TR-4739 3 3,400



P e

7. Discuss the relationship between business strategies and
marketing mix. | 2451] 0TS TP Total Pages : 04
=R it @ faeor e & A wme enfe CMDE/M-18 4740
FIT | | STRATEGIC MARKETING
8. What is strategic evaluation and control ? Why is it MC-203
necessary ? What are the barriers associated with 1t 7 Time : Three Hours! [Maximum Marks : 80
TR geaEa qe FREC # § 0 qE F SEAE § 2
F F-FG FEYE T 7 Note : Attempt Five questions in all. Q. No. 1 in Part A is
compulsory which carrtes six questions of 4 marks each.
Attempt four questions from Part B carrying 14 marks
cach.
o vfer godf F TR AT | 9 R H 9 geA
o g g WW W FIEU | UEE WS 14 FE H
T
PartA (5T ‘at)
1. \Write short notes on the mo:oéwsm“
(a} Distinguish between goals and objectives.
(b) Discuss the hierarchy of strategics
{cy Discuss the limitations of vertical integration.
P-‘:ﬂ,..h.?s 4 3.400 (3-29/15.-TR-4740 P.T.O.



Part B (W17 ‘F') .

2. Differentiate between strategic marketing and marketing
management. How strategic marketing emerged as an
important area of business ? Discuss the new trends in
this regard.
ﬁﬂmﬂﬂﬁumgﬂﬁunﬂmﬂﬁ% | SR #
TP &9 ® w9 F gmiiwe e S swg € 2 =g
oy H T gyl Wt @it

L-TR-4740 2

(d) Define Demarketing.- How companies  use
demarketing ?

(¢) Explain Low Cost Strategies. -

H Discuss the relevance of gap analysis.

Frefaften w dfaa fewfef fafey .

(1) @edl 9 SSvEl ° R s

(3) A % wEEEe @ v Efe |

(§) TR THHE & dmei w1 g i |

(3) femmfén &1 ufemm Sfw | sl feasfa =
wA 9w T2

(W) = o wHEifE w1 gule R )

(%) <R foveiyor #1 yrifierar sacy |

What are the components of industry analysis ? What
precaution:s should be taken while assessing the industry
analysis 7 Discuss some sources of information used for
this analvsis.

S fawemy & wew owm § 2 s favemm
=T ? 39 favero ¥ wgw gEA # wp w@hl w1 o
FIY |

What are the characteristics of %o:&:m markets ? What
strategies are used by oo:%miom for declining markets ?
“an they revive at this stage ?

IR (AR A fRe) w5t femtmand wnm & 2
@ﬁ%%ﬂ%?ﬂﬂ&ﬁw&ﬁ%%%
WG E WA T R W TR @ wEy § 2

Why is positioning necessary ? Discuss with the help of
suitable examples, the various positioning strategies used
by companies. .

fofs = amEvas § 7 T B W OrfaE wi
fafr= feafedl =1 Svwr &1 werm § ool Wi

Discuss in detail the growth and diversification strategy.

When companies go for these strategies ?

mﬁzmﬁﬁwmﬂ%ﬁwﬁﬂ@mﬁﬁg_
FortEl m Rt W ww v € 0

(3-29/17)L-TR-4740 3 P.T.O.
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| CMDE/M-18 4741
FINANCIAL MANAGEMENT AND POLICY
MC-204

Time : Three Hours] [Maximum Marks : 80

o

Note : Attempt Five questions in all. Q. No. 1 consisting of
six short answer questions of 4 marks each is
compulsory. . )
FA U WA B ITW AU | g wew 1, W w
Y THA WA €, TIF WA 4 HF i, e f

1. Short answer type questions : 4x6=24
(a) Controller functions of a financial executive.
(b)  Usefulness of the concept of Time value of monev.
(¢)  Concept of financial forecasting
(d) CAPM as method for computing cost of capital.
(e) - Need for working capital for a service organisation.
(f)  Speculation motive.
TSI T
() fadm s & fFHys =9
(F) T F1 ¥99 oA H SEYRW S TG
(®) fodim q@Eam =1 eEyron
(2) It @@ T W fafy % w9 § CAPM
(3) a1 9o & foau wrEvie o w1 smevadE
(%) qET Wl |

 (3-29/14)L-TR-4741 P.T.0.



Describe various approaches of finance function. 14

I -~ g

w1 FUH FNAT !

o at ¥ 305.08 and

fs
o
%
]
¢
e
jommy
jur
e
i<

The equity share of a company

d at a rate of T 4.24 per share. The

it is paying a divider

oy

, ner annum for fhve

dividend is expected o grow at
years and then at 12% per rear for ever Calculate cost of
equity capital. 14

K

TE wEE w TAW A T 305.08 H faw Wi B ad

T 424w SE W oET T e e fEAl WM OWE
M%\cwammﬂﬁﬁ&m%%@mmgSp\;wﬁ

r~ K

F T W TN F e AN =ed ) ART E O mEd Il
F GE & OO FIHT

Explain the process of calculating Cost of Capit:] as per
CAPM. 14

o

CAPM % oFER U3t @WE # W W] IEA B OG0

Explain the process of assessment of working capital for

a multinational company. 14

TH TG A & A
gfear &1 guE HEg |

Describe W, J. Raumol’s model for cash management. 14

.

qJHE YIY F] g N WETEw WER w IUH S |

L-TR-4741 | 2

7.

Describe methods for capital expenditure control. 14

Write short notes on the following : 14
(a) Retained earnings as a source of finance ,
(by Credit Policy.

frefafog w deg o fowafry fafaw -

() fg & ¥@ & w9 § ufd o

(3) =@ Hifd |

(3-29/15)L-TR-4741 -3 3,400




The profits of the two companies for 2014 are found to -

be 7 1.10.000 and T 1.50.000. respectively. ‘ | 20011 A 1 R Total Pages 08
Calculate the value of the Equity Shares of each of these CMDE/M-18 - 4742
two companies on 31.12.2014 on the basis of this CORPORATE ACCOUNTING
information only. Ignore taxation. 14 . MC-20%
Tt A A qon B A owfas, S5 qa ot | . , o

- e R Time : Three Hours] INfaximum Marks : 80
TEFEAR € U SAH Y Sl TR S-S €
A fa =1 ey dof T 11.00,000 F ST OTEE T 100 A Note : Attempt all questions.
6% SAfemHF i3 qen Y& T 10 3 1,00,000 WHAT S gl g ® IR AL | :
1,000 T fasiftsm, € 1 B fa =1 o i@ IS 2 11.00,000,

1. Compulsory Question : 6x4=24

T S wEE T 100 9 SAfEE oW d ¥ 3 10 A
% 1,00.000 991 9 1.000 ¥ fawfom € | 39 YR &1
FHfE & wEa oW ® uRd W S IR 8% W
fraffm & 1 & 2014 H <A FEAE R ey HE:
% 1,00,000 @& ¥ 1,50,000 W1 AT | |

Fad TE GEA F SER W 31-12-2014 & T <Al
FEE & THA AT F qeF H AU FINE | FIIH W
e AE AR | @

(a) Define the concept of holding and subsidiary
company.

(b) Define forfeiture and in what case could shares be
forfeited ?

(c) Discuss vield basis method of valuing shares. Also

write its formula.

Write various methods of valuing human resources .
assets. |

(¢) Define mBmHmmEmmow and forms of amalgamation.
(f) Define .&c&%ﬂos |

AfEE I3

(37) wfieE qu GEEE FEAI F1 FAYROT HOF0H

L-TR-4742 8 3,450 (3-31/5) L- i R-4742 P.T.O.



(@) F=f w R SRR e B D Current assets 2,77,600  2,39,000
EESIETU IR B | S ‘

(9) HeAmhd 39 o1 Ioqea e fafy =1 ool
HIT | THH g3 o fafae | | HLtd.  SLtd.

(%), A9 w9 gt & qeasd #1 fafys fafuef . z 7
v_ﬂmv@.m | . Notes :

(3) THIHW # R . qen e w=ET TaRy |

(%) sEEmuv #1 g e |

7,40,000  3,39,000

1. Share Capital

Issued, Subscribed and Paid up :
2. The following are the balance sheets of H Ltd. and’S Ltd.
as at 31st March, 2012

Particulars Note No. . Amount as at

Euity shares of ¥ 10 omo.?

fully paid up . 5,00,000 2,00,000

31st March, 2012 , 2. Reserves and Surplus B ¢

H Ltd. S Ldd. General Reserve

I. Equity and Liabilities :

H. Ltd. . 1,00,000
Shareholder’s funds :
Share Capital 1 500,000 2,00.000 | S.Ltd. 50,000
Reserves and Surplus 2 rmouooo 79,000 Less : Preliminary Expenses (6,000) 44,000

Current liabilities :
‘Trade payables 80,000 60,000
, 7,40,000 3,39,000

Surplus i.e. Som: balance of

Profit & Loss A/c 60,000 35,000

1,60,000 79,000

IL. Assets
Non-current assets : 3. Non-current Investments
Fixed assets wO0.000 _uOOuOOO . 60% mﬁc_ﬂv\ Shares in S Ltd.

Non-current investments 3 1,62,400 :
, at cost : 1,62,400

‘H-,‘HWLGAN , 2 ‘ (3-31/6) L-TR-4742 3 P.T.O.
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H Lrd. acquired the shares on st April. 2011 on which
date Genera! Reserve and Profit and Loss Account of S
Ltd. showed balances of ¥ 40,000 and ¥ 8.000 respectively.
No part of Preliminary Expenses was written off during
the year ending 315t March. 2012,

Prepare %m consolidated balance sheet of H Ltd. and its
subsidiary S Ltd. as at 31st March, 2012,
frafafes fesg H fa s s fa & 31 =9, 2012 & %

foaor e ¥, TRT
. 31 =7+, 2012
H fa S fa.
1. IO 99y 9fae .
SN T FN
3for , ] 5,00,000  2.00,000
g R T 2 1,60,000  79.000
] qaeE . .
MR 39 80.000  60.000
7,40,000  3,39,000
Hm.ﬁﬂmﬂ% :
-, Tty
feer gefeat 3,00,000  1,00,000
-] Frew 3 162400
o, ottt 0 2,77,600  2.39,000

7,40,000  3,39.000 .

L-TR-4742 4

H fa. S fa.

3 4
ﬂWN. M
frifin. wfes @i ==
TIF %10 ¥ THr 8T gl 7w 5,00.000  2,00.000
2. WY AGT Fod 4
H. 1.00.000
S. f=. 50.000
5T YR =57 (6.000) 44,000

99 3 A9-31 =@
= 79 . 60,000 35,000
160,000 79,000

3. f-=re] wwfear
ara | S A H7 60%
A &9 1.62,400

.mﬂ.wgﬂm‘wo:ﬂgﬁﬂwﬁﬁﬁ,gﬁ

S fa. # I H99 99 A19-Tf @ w99 2 40,000
qen ¥ 8,000 ¥ femma w1 € 1 31 W, 2012 % IWA
TR =38 w1 FE @ e sfafen wE e

31 =€, 2012 = H f& 9o s9e) wems S fa &

gHfRa fager &R =ifag |

(3-31/7) L-TR-4742 5 . P.T.O.



3. Discuss the following : 2x7=14 6.
(a)  Periodic and segment reporting
(b)  Corporate and social reporting.
Trfafea 1 ool mﬂ?ﬁ :
(31) owafas TN swem-stem o
(9) e qon wotees Raifén
4. @18 notes on the mo:oasm” 2x7=14
(a) Harmonization in corporate reporting
(b) PE method of valuation of shares.
fretfafen W feafiral fafag - : . 7.
(31) whie ffén § wmm
(9) e % HedHA & PE fafy |
3. (a) Define segment reporting with specific reference to
AS17. 2x7=14 8.
ASI7T & fiw W § sr-sem Rufem @
it Sifs |
(b) Discuss the format of profit and loss account and
balance sheet as per schedule VI of Companies Act,
2013 with arbitrary figures.
wifess oiwel & Wy we efufmm, 2013 &
T VI % ATER 9-3f7 @R F qE qen fagg
F FGUH HITT |
L-TR-4742 6

(3-31/8) L-TR-4742 7

(a) ~Corporate financial reporting is health card of
company.” Critically evaluate this statement.
:‘J%( - Eﬂ-ﬂ o

i~

T | T oed & eSS goedlEd e |

T FIAT D e F1E B

(b) Discuss the current corporate financial reporting
practices being followed by Indian Corporate
Houses. 2x7=14
fopfén @ =F= St |

Discuss the need of Human Resource Accounting. Also

discuss various objections against this concept. 14

s GOEF e #1 STEvFedl %1 30 FNY | TH
aumon & faeg fafa=

Two companies. A Ltd. and B Ltd.. are found to be
exactly similar as to their assets, reserves and liabilities
except that their share capital structures are different :

The share capital of A Itd. is ¥ 11,00,000; &S.ama nto
1,000. 6% Preference Shares of Rs. 100 each and 1,00,000
Equity Shares of ¥ 10 each. The share capital of B. Ltd

is also ¥ 11.00,000, divided into 1.000, 6% Preference

Shares of Rs. 100 each and 1,00.000 Equity Shares of

Rs. 10 each. The fair vield in respect of the Lquity

Shares of this type of companies is ascertained at 8%.

P.T.O.
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CMDE/M-18 - 4743
BUSINESS STATISTICS
MC-206

I'me : Three Hours] [Maxtmum Marks : 80

Note : Attempt Five questicns in all. Q. No. 1 is ncchToQ
wa dfe T B TR AT L T ged 1 afEd
g

1. Answer the following questions in brief. not exceeding
150 words
(a)  Explain muitiple regression and discuss its atility in
business.
(b} What do vou mean mw splicing 7
{c) .> speaks truth in 75% cases and B in 90% cases.
in -what percentage of cases are they likely to
contradict each other in stating the same fact.
(d) Explain the properties of Normal Distribution.

(¢)  Assume that the probability of a fatal accident in a

Calculate the

(2-21/4) 1.-4743 , - PT.O.



probability that in a factory employing 300 workers,
there wili be at least 2 fatal accidents in a year.
(Given : ¢ 2% = (.7788)
(f)  Distingnish beiween Partial Correlation and Multiple
Correlation. 7x4=28
fresfafen we w77 9 150 Rl A% I AR
(&) =gl TR W A0 s | T W OTEE
e F UHARC |
(a) fevm=m € e #1 gwe ¥
(F) A 75% T ¥ w9 e © oae B 90% wmef
¥ o9 Sad § o UF 96 oW 39 2 4 e
WA g F AR 8 Sem 7
(2) g fomor = oA w1 Ao wifse
(3) 9¢ W 2 TR wF Beed d gEEA W gRe

M _,_c r fom 300 T wE@ E
¥ oad % wm ¥ H9 2 I gW w ogwfEa
| (e 2 7025 =0.7788)
% Ud SgSaea wewE H W |

I

(%)

Calculate coefficient of correlation r,; and R, ,; from

the following data : 14
X 3 4 5 6 7 8 9
Yy : 2 5 6 4 3 2 4
Z 5 6 4 5 6 5 8

1-4743 \ 2

X 3 4 5 6 7 & 9
v 2 5 6 4 3 2 4
7 5 6 4 5 6 5 8

3. hat is Time Series ? Explain briefly the components of
thne series. 14
FE ST @ ® 7w 49w ae @ 6EY W OFUM
At

4. Calculate Fisher's ideal index from the following data.

4150 show that the index satisfies both tiie reversal and
{actor reversal test : 14
Commedity Base Yea Curreni Year
Price Total Value Price Total Value
A 5 50 O 72
B 7 84 ¢ 80
C 10 80 12 96
D 4 20 5 30
E 8 56 3 64
(2-2U5) 1.-4743 3 P.T.O.



(a)

(b)

“selection 18 =

“these will be selected.

4 20

What do you mean by Cost of Living Index ? How
is it censtructed ?

S FraE gewE w2 TEE fei & Gl
%2

A husband and a wife appear in an interview for 2
vacancies for same post. The probability of husband's
W and that of wife's selection is ;W.
What is the probability that (i) both will be selected
(ii) oniy one of them will be selected (iii) none of
7%2=14

w a9 T UE fifsl & o
. 1

o W F R @ Sk RN W EEE o

$ | wiwss FaRe () S %

P .. . N ~
; oy

I A [ T e

gafqg ¥ EW &0 |

g T OF

oTd 2

1

Ed| Eg wAH " OTE OF W

W f ok

pess

6. (a) What is Addition Thenvem of P
it,
sRE osm b 7o\ fom
(b) w2 ogirls i Koo Moo §and 3
~oom No. 1L A cird from one
x& What is the probability
;1at she was froin Room No. I 7 7x2=14
T 4. {4 4 dEw © lm@a g a9 WY
ﬂ».ﬂmmﬁuimw P E o R T
FOL o GECANREIN ﬂ O+ fRe wigwar
wWﬁM@Jiﬂmﬂ,. FAG A 11 9 o ?
7. Fit a normal distritution to the following data :
Marks 0—10 | 10—20 | 20-30 | 30-40 | 40-50
Frequency 3 3 g 3 1
Use Area miethod. 14
frfafeg oiee © gmm faaw fee =ifsg
| oie 0-10116-20120-30|30-40]40-50
EIR= IR 3 5 8 3 1

gwe fafy wm wifse

8. Using suitable examples, explain the operations of base
shifting, splicing and deflating in the context of index
numbers. 14
3Ifd IR & WeIE | gEdlE & ued ¥ euR ufigdd,
RREeT @ A9enifa &1 qieaet &1 ol wifse

L-4743

S 3,400
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CMDQ/M-18 5726

IT AND E-COMMERCE
MC-401

Time : Three Hours] [Maximum Marks : 80

Note :

(b)

(c)
(d)
(e)

®

Attempt Five questions in all. Q: No. 1 is compulsory.
Fd e JEAl ® SR AT | T den 1 et
T

What do you mean by e-Commerce ?

Tmd w g o T2

How can we perform online share market
operations ?

T e W TR TRerd hy WEW wW
g2

What do you understand by value chain integrators ?

U Tl WOl 9§ oY dE W € ?

What are the advantages of ioc-dmm.ma advertising ?
9 o fosd & @1 @ € ?

What do you mean by online frauds ?

ST SerESt F1 F Hae™ € 2

What is viral marketing ? . 6x4=24
IRA WS 7 ?

(3-41/14L-TR-5726 P.T.O.



(a) State the relative advantages and disadvantages of
e-Commerce over traditional commerce. 7
T A T TE Ewmd w wnfas oy
T w1 gl i

(b) Discuss the

concept and procedure of

e-Procurement. 7

m-@ﬁﬂﬂmﬁgmﬁngﬁﬂrﬂg_

(a)  What do you understand by e-Banking ? Describe
various operations that can be performed using

e-Banking. 10

.Mh-wmﬂ@wﬁﬁmﬁﬁaﬂwwﬁwﬁﬁﬂ

wRERE w1 oA Wi R Lt § T R
S " ?
(b) Comment on the need and use of information

brokerage. 4
TN B FH STEwIEA T WA 3 geen
HIfT | _

What are the various means of telecommunication ?
Explain working and advantages of each in detail. 14
w@ﬂﬂﬂ%ﬁ%@?ﬂﬁﬁﬁwwmﬂw@uﬂﬂ%
FE Aol s w1 v wifwg |

L-TR-5726 2

5. What do you mean by online marketing ? Discuss various
ways of online marketing along with advantages and
disadvantages of each. _ 14
S SaE R Lo B I e O R S
TEET & faf e w1 v aw-ste wfeq o
FHifsg |

6. (a) Whatis Cloud Computing ? Describe various types

of clouds and the uses of each. 7
FASE FET 7 T 7 Fomsew w R e
F T T TEF B W g HIfTT |

‘(b)  Explain ERP and its 2,“\@::03@:8 in detail. 7
ERP % sarem #ifq qen Toel smavasdr =
forga avi FiRT |

7. What are the various securities issues in e-Commerce ?
Discuss the remedies for each type of issue in detail. 14
CFEE A fafes i @ fete @ ¥ 2 fretgr @
TIF TFR F QUK # vl s |

8. Write short notes on the following : 14
(a)  e-Retailing
(b) CRM.
freafefen w dfirm frogforgt fefeg .

(1) -ffem
(7)) CRM.
G-4V13)L-TR-5726 3 3,600
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CMDQ/M-18 5728
PROJECT PLANNING AND CONTROL
MC-403
Time : Three Hours) [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
FA U W ® W AT | 9 g 1 ata
2

1. Attempt all the following parts in brief :

(@ How project ideas can be generated ?

(b)  Differentiate between primary and secondary sources
of Information.

(¢) Explain Product Mix.

(d) Discuss factors affecting capital structure of a
project.

(¢) Explain Break-even Analysis.

() Discuss payback period method used for E&.moﬁ
appraisal. 6x4=24

frafafen ot vt % s wew § fefag .

(1) e foam # Y IO W TRy ¥ 2

(%) ﬁﬂ%ﬂ%ﬁmﬁﬂ%ﬁ%mﬁﬂ%_

(¥) SR fyor =t =amen sifsw |

(3-63/3) L-5728(TR) P.T.0.



(%) gﬁd@ﬁﬁﬂﬁmﬁmﬂ%mﬂﬁg
F TR Hifw

(1) w-famg favemm 1 avir #ifge |

(F) IR TeaiFt & fou v 9w dfe S e
T FIfST |

What do you mean by project feasibility study ? State its
need and importance. What aspects are need to be
considered while carrying out feasibility study ? 14
A G SO T I w2 T sEvesa
T HE™ AT | GfausHs oemma R g s o
W A EvaE T F E

Why market and demand analysis is canned out ? Explain
demand forecasting techniques. 14
s a7 faverer w R sw ¥ 2w qeigem
THHAITR F FUE HifT

While choosing the technology for a project, what
factors should be considered ? How plant capacity is
determined ? 14
TF AN % fau qwfE 9T wne fe A @ eam
SR € 2 WA amm #9 Fruffa w1 o & o

Discuss various financing schemes of financial institutions
used for financing the project. 14
WSw WY wE § owm fdm teensd w fafus
it Ameea w1 aeir ik

L-5728(TR) 2

Explain NPV and IRR method used for project appraisal.
Which one is better and how 9 Explain. 14

NPV @er IRR fafyr &t e #ifsw i v geaian
mﬁﬂﬂmwwﬁfﬁﬁmﬁﬁw%ﬁ«wmﬁﬁﬂf

What do you mean by Social Cost Benefit Analysis ?
Explain UNIDO approach of SCBA. 14
WIS G o faveion § o9 @ 9wed § 2 SCBA
F1 UNIDO 39 &1 a9 Fifsa |

What do you mean by time and cost overrun ? What are
the reasons of this problem 9 Suggest measures
to overcome the problem of time and cost overrun in
India. 14
A T A HER W W o i ® 7 sy awen
M ERT E 7 G A T wmE W@ w5 R su
gaRT |

(3-63/4) L-5728(TR) 3 1,30¢
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derivatives and volaulity 14

=1 CMDQ/M-18 5730
, PORTFOLIO MANAGEMENT

S s

#e oy T ones U=

~

. . , ; MC-405
8. What is cost of carry 7 Why are speculators wiracied o
futures 7 Explain. 6~8=14 Time : Three Hoursj INMaximum Marks : 80

A OWH w] @A R WEAe w e F S e , o .
. 5 . Note :  Attemipt Frve questions o all. Q. No. 1 s compulsory.
T TERAT ST vr\uw v ERIG A 04 |

Fel wie v % s Af9r 1w e 1 safEd

i.  Explain the following : 6x4=24
{a)  Despite its Himitations, why is the CAPM Widcely
used ?
thy  Show how the capital market line 1s a special case
of security market hine ?

{¢y  What s the ¢

thrium  rish-return relationship
according to AP Y

(d) What is o covered eall strategy 7 Show its pay off

and profit functions.

{ey  State and ditferentiate  befween Sharpe’s and
Ireyvnor’s portfolio performance evaluation measures.

() What 15 the oificient portfolio ?

i

]

543
-3

fmi

T30(TR) 4 350 (3-63/120 -R730(TR) P.T.O,
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(%)

T Whatis un O

o
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From the information

T=14

{a)  Expected retum on cach stock if the murke returns,

is equally Likely to be 5% and 239,

(b} If the risk tree rage is 8% what is the SML o

Muarket Return Befensive Stack
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CMDQ/M-18 5733
SALES MANAGEMENT
MC-408

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

e we W @ sw i | W e 1 s

e |

i, Answer to following questions should not exceed 130
words. All short questions are compulsory : 6x4=24
(a) Distinguish between advertising and personal selling.
(b) What is a Sales Budget ?
(¢) What is Routing in Sales Tenitory ?
(d) Explain importance of time management.

(¢) What is a Sales Contest ?

o~ AN TA TS ¢ reanlioin
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L-5

N

(2) 9T 99¢ & W Hi JUF FHI
(z) Towa gfgwmsdt = % 2
(%) fagg vay ¥ @@ 3

Explain. the functions of sales management in large
business organisations. 14

g5 MR 9T H 999 wE % el o gy s )

What 1s Sales Planning ? Explain the process of sales

planning. 14

S

fawa o = € 7 ey =1 ave @ifee |

Explain various types of field sales organization. Suggest
appropriate sales organization structure for selling electrial

appliances for home use. 14

wieg fakl Wier & fafas war & oo #ifey | e

S e s o~ ~

T F T wefesma susen @ faEr % foo st

fasl 9ed W F ogeE

Explain the meaning and purpose of selling a sales cuota.
1 = & i

Explain various ivpes of sales guotas. 14
Ry

F Y AU TIEYA F GUH ST

" ~ e

,,:1a uu e o
i<l & a1 Yealld il Vi ST

735{TR) 2

xplain the need for training saiespersons. Discuss various

£

sales training methods. What are the factors influencing
choice of training methods ? 14
fommst & fau oo #1 sEvg®sa w1 guid #iee |
faty= foma wfvgm fafadl =1 9o =i 1wl

At % 99 =1 yatad e O FRE = F 7

Explain the importance of motivation in sales job. Also
explain various financial rewards, non-financial rewards
and other factors that can be used for motivating sales-

persons. 14

fawg = § Won % "eed F g9uE Hitee | fagas
% fou ygm Giye o Radg, -fadm
TETER g & &Ra w1 § g Fifeny |

(a)  Discuss the need for sales analysis in a business
organisation. 7
UF SAMUR WA U A4 fove @) eyavamal

(b)  Discuss the various éthical issues jaced by sales-
persons and sales executives. 7
aﬁmﬁaﬁg
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CMDQ/M-18 5734
SERVICE MARKETING
MC-409

Time : Three Hours] [Maximum Marks : 8§~

Note : Q. No. 1 is compulsory.

1. Explain the following answer should not exceced 130
words - 6%4=24

(a) OCMSEQ Expectations

{b)  Service Marketing mm.mamﬁmmob .

(©  Servics Blue Printing )

(d) Communication Mix for Seryices

() Role of Contact Personnel

(O Key Intermediaries.

Mote : Attempt any fowr questions from serial Nos, 2—

)]

“Role of service marketing is growing day by day.” Justif

l.

4

the statement with suttable exammples,

te on By
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=~

Draw a diagram of service model and explain anv 7w
g I b

gaps in details.

Define  Relationship  Marketing.  Also

approaches for customer retention.

What is Customer Feedback ? How can it be used for

pmprovement in Service Quality ?

Write a detailed note on the role of promotion in services.

How can organization, improve upon these strategies.

Write' short motes.on any nro of the following :
(a) Managing service delivery
(by Ethics in services

(¢) Enchancing customer participation.

~
Ga
I
e
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CMDQ/M-18 5736
CONSUMER BEHAVIOUR
MC-411
Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 carrying 24 marks is compulsory. Attempt any
jour questions out of Question 2-8, which carry 14

marks each.

1. Write short notes on the following : 6x4=24
(i) Nature of consumer behaviour
(i)  Consumer involvement
(iii) Impact of life-style on purchase behaviour
(iv) Social class
(v) Diffusion of innovation
(vi) Consumer behaviour research in India.

2. Why marketers need to have a sound understanding of
consumer behaviour ? How the behaviour of Indian

consumers have changed over the years ?

3. Describe in detail consumer buying process. What specific
decisions a consumer has to make at the time of actually

purchasing a product ?

(3-64/4) 1.-5736 P.T.O.

4. Distinguish between perception and attitude. How
marketers can effect change in consumer attitudes in favour
of their respective brands ?

5. Explain different theories of personality highlighting how
they help the marketers in understanding consumers
personality.

6. What are different types of groups and what influence
they exert on an individual’s buying behaviour ?

7. Define Culture. What are cultural influence on consumers
purchases ?

8. (a) What are hallmarks of opinion leaders ?

(b) Discuss any one model of consumer behaviour..

L-5736 2 | 600
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'CMDQ/M-18 5737
RURAL MARKETING
MC-412
Time : Three Hours] - [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
T UT W % SR T | we gen 1 e
T

1. Answer the following in brief (in 150 words each) :
(a) Discuss the nature of rural market. v 4
(b) How will you segment the rural market on income

bases ? 4
(¢) Outline four criterias to differentiate rural market

from urban market. | 4
(d) What are different types of new products ? 4
() What is satellite distribution network ? 4
() Define ﬁEo_o on wheel (vow). 4
frefafed & s 989 ¥ T (REF 150 T H)
(31) TH SR ® WRfG FaRy |
(d) o™ & MR W MY WA SR H faaem $9

A ?

(2-28/14)L-5737(TR) P.T.O.



(8) THITT 9N 90 TRT 9N 6 =R HE B fau
IR HEfeE w1 TRE TR |

() T SO » faf=w wor w=@ § 2

(3) Womge foawor deaw w2

(%) 96T W WME (vow) i uRsm dfSw |

“Rural Market in India offer bundle of opportunities and
challenges.” Explain the statement with suitable example.

14
‘AR § T AR SR g gAfad w1 ST ST
W T 1" sfed SERT ¥ e Hifw

Define consumer behaviour. What factors should be
considered by marketers to influence rural consumer
behaviour ? , 14
TR FEER A IRWING HIY | IUNFT FTER |
9IS S o fohA-fRT aRel #1 fauuel e @

ey ?

What strategies are being used commonly in rural markets

to attract consumers ? 14

R IR W TEH e § SusiEmst ® gt 9
3 fou FH-sAd oAtEl R oW @ F 2

“To study rural marketing environment is crucial for the
marketers.” Elucidate. 14

“yrtur fauom wEteRer w1 temER W fauveRl & fow
Tewyqol ® 1”7 ool i |

L-5737(TR) 2

7.

What is personal selling 7 Why is it important in rural
areas ? What issues are involved in personal selling in

rural areas ? 14

ﬂwmﬁﬂﬁﬁwvﬁ%mﬂﬂﬁﬁg

2 2 g & A st fra § eR-wRE g e
g

Differentiate between marketing of consumer durables
and non-durables in rural areas. 14
T &S W IuiE fews qunr W-fewe & faom §
HR w2 HINT |

Discuss the recent initiatives taken by the Government of
India to promote e-Commerce in rural markets. 14
o SR B -HiHE F 9gE # fY 9Rd 9@ g
T @A w geEEd K W€ 2

(2-28/15)L-5737(TR) 3 650
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CORPORATE GOVERNANCE
M4 1
Time : Three Hours] [Maximum Marks : 80

Mote 1 Attempt Five gquestions in 2ll. Q. No. 1 is compulzory.
All questions carty equal marks.
el urE WO @ S AR | ue "em 1oee
oo g ® s owEE T
1. Write short notes on the following :
(a) Governance and Management
{b) Financial disclosure
(c) - Joint stock aggregation of risk capital
(d) Description of Scamp at Punjab National Bank
() «%owm of SEBI in corporate governance
(£ adbury committee recommendations.
foafaa w0 wige Bwfrr faray .
(1) IMHa 991 99
(a) foria wgststo
(w) Sifem 45 = HgE Wi _ESJ&E
Qv ﬁﬂ ﬁj p@ S, ﬁj
AV ,.,.
m
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ctive and efficient

er.ough to ©Ope up the emeryiag provided by
glohalisation in corporate business environment 9 Ulustrate
your answer with erpirical evidences

I AREE VIR I e s ERCCucrcic Ty
RG] A w owE e W fa s
THERIE A G ¥ 7 emwawem weel $ ary aven

ERtE T :

Write a detailed note or evolution of corporate governance
in world ? How its evolution m Indiz is different from
that of world ?

T A e wwis & wos-few w g feomf
fefae | e ¥ wem wes B 2R 9 9 ewm

=

g 7

Describe the role of Board of Dircctors in governance of
mmmm.m sized corporations with special reference to rece

e governance in USA, UX and

velopments in coipo

India.

SERTT BT B Wi

“*¥
4

&, 1ssues in corporatisation

VR W e Eal
7. ppraise current status of corporate governance

g systen

ERI mﬂ%m SIS Sy e
HEAFTIRAT yeaiwa sifng

8. Depository system is regarded as a step towards effective
corporate governance. Ilustrate in detail.

= e . BN A . SO . S P
T GUTeH fﬁw HIUNE QIEF T Tevn ¥ oum wren
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CMDQ/M-18 5742
ORGANISATIONAL CHANGE AND
INTERVENTIONS STRATEGIES
MC-417

Time : Three Hours] [Maximum Marks - 80

Note : Q. No.1is compulsory and carries 24 marks. Attempt .
any four questions out of remaining seven questions
and each question carreis 14 marks.

1. Write short notes on the following :
(a)  Ethics of OD professionals
(b)  Team. interventions
(¢)  Group overcome resistance to change
(d) Meaning the transition
(¢)  Transformational planning

(f)  Customer focused Strategies change management.

ﬂﬂ@w@mﬂﬁ?ﬂ@ﬂ@@?@mu_

-

(1, OD wosmog 37 “Fum
(F) & mwem

SP EC cL i T—

(2-67/9) },-5742 (TR) Y Qo



(Z) THHT FHT Y
(¢) ulEdaa arsmH

(%) TEd wisa wHifqar ofeds vy

What is the significance of OD ? Discuss any fwo
behavioural techniques of OD.

OD &1 1 Rew & ? OD &1 & &
Tt |

What are issues and challenges for OD practitioners in a
changed business scenario ? What suggestions do you

offer to be successful OD practitioner ?

giEfda =R 9iged § OD Warmdietl & 9 o am

TR qu gHfadl = € ? §%a OD =HeEEl g % fere

M9 1 gIE a7 ?

What is sensitivitiy training alleged to be an invasion of
privacy and damaging a trainee emotionally ?

Tidl W SR Tl Th WivTe] &l hdH dmml % ferg
Gageiierr Wit s 2

Write short notes on the following :

(i)  Proactive change and reactive change
(i) Process of planned change.
frfafes w dfea femfrl fafeg

(). ufrs fada g Rafea 9feds
(i) @@ afEds =1 gfwen |

L-5742(TR) 2

What is ooﬁoﬁm? restructuring in India in view of changed
l:asiness scenario 7 Explain the process of restructuring.
sy W we § w e e

% UEFEET TUSET |

iR TR IfETE & G

‘

BT wf § 7 ﬁ&ﬁﬂm

544

wWhat s strategic leverages to implementing change 7

mﬂu..ﬁﬁ oﬁ@%ﬂ?ﬂ

8. Write short notes on any fwo of the following :
(i)  Management of Change
(i) Reasons of Wmmmmﬁm.:om to Change
(iii)) MBO.
frafafes  dfga feoaforl fafeg
(i) ulEE =+ TE"
(i) ufEdw & sy & &R
(i) WSS |
(2-67/10)L-5742(TR) 3 600



8. meo.:mm the applications and limitations of generic
strategies and strategic groups. Discuss the relationship
between business and functional strategies.

A YOHIfaa qel OFIG TE & STwEn o e
H AU FINT | IR TN FACTR WEIGA W GEy
Tonfad ST |

L-5743(TR) 4 900
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CMDQ/M-18 5743

STRATEGIC MANAGEMENT
MC-418

Time : Three Hours] [Maximum Marks : 80

Note :

1.

The question paper consists of eight questions in all.
Q. No. 1 is compulsory and consist of six short
questions. Attempt any four questions from remaining
seven questions and each question carries 14 marks.
-1 H w@ 8 WA R W ¥ T wem 1
Afrard 7 oik 3od B: oY Swdg WA € | 99 9@
v H ¥ fER O9R T & SW AT | T&@F T
14 SR H T |

Attempt the following short type questions carrying

4 marks each :

(i)

(i)
(iii)

(iv)
)

What do you mean by behavioural issues in strategy
implementation ?

What are the benefits of strategic management ?
Write a short note on strategic decision making
framework.

What is planning ?

Write a note on vertical alternatives.

(2-76/2) 1-5743TR) P.T.O.



(vi) Establish a relationship between ‘Strategic
Directions’ and ‘Vision’ of a company.

Frefafeg oy sTE w1 @ SW AN | TRE T

4 IFF H T

(i) THfd wEEt § o AeEie q§] 9 o9 Fm
T €2

(i) g Ty @ g oww § 2

(i) WG oA waas | T feoolt fafen |

(iv) oM @ ® ?

(v) @=aq (F@ER) fawey W ww feoofi fafem

i) T wEA & ‘e fRe e ‘e’ 9wy
wfyg wifsg

What do you mean by Strategy ? Describe the relationship
of company's strategy and its business model. Assess the

business model of any company.

THfT § " =TI R ? I & WA def T
IR | & Ty w1 U Hifew | fHE wEA @

SR HiEd &1 Yedlh Hifg |

Distinguish between mission, vision and objectives.
Explain the importance of these components in any
organization.

foaem, faom qun effssioem o ofR wamy | fed 9med |

T U] H He@ «aRd |

L-5743TR) 2

Define conglomeration. What has been the international
experience in conglomerate diversification ? How can
risk of diversification be reduced ? What guidelines should
be borne in mind while pursuing the path of conglomerate
diversification ?

e & i A | wgE fafaya o s s
R T ? fafaum w1 Sifen S8 w9 faw w1 @ €0
o fafewm & 49 fom & @ ferfadw e =few 2

Are the company's prices and costs competing with those
of key rivals and does it have an appealing customer
value proposition ?

T FEE H OFIH SR AN WAl b oW whremf
FX W E q T 98 UF A U ed Y 7 2

Explain the relationship between corporate governance

and social responsibility.

FHORE MET qg e gfaa § @99 %1 9o St |

In what ways can a corporation's structure and culture be
internal strength or weakness 7 How do you view the

Indian scenario in terms opportunities and risk 7

7 T | BARTA F HEA qO GEHfG ANE wife

T FHASR B ThHdl T 7 SOE 9U SfEH &I U 9y

aREv A #9 2@ ¢ 2

(2-76/3) 1.-5743TR) 3 P.T.O.



7. Explain determinants of dividend decisions. Describe
corporate dividend practices in India. 10
e ol & froafel = Temw s wroe
TN - woavl F

8. Describe broad areas of corporate restructuring. Explain
various techniques in brief used for corporate restructuring.
10

FRORE T[T & qeF &3 H quR Ffww FRORE
e & fou v faf= ot = qd9 § wmemu

10563/50/KD/375 4

N ’ A

ROIINO. et , Total Pages : 4

| MDE/M-18 10563

MANAGEMENT ACCOUNTING AND FINANCIAL
MANAGEMENT
Paper : MCIT-201

Time : Three Hours] {Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Attempt four questions out of remaining seven questions.

T : FF U T P IW A TR gEn | e $
T EE v A ¥ R wR v # Sw s

Compulsory Question ( 27faTd wor)

1. Attempt all the following questions in brief :
(a) Discuss Nature of management accounting.
(b) Describe role of management accounting.
(c) State objectives of divisional Performance Measurement.
(d) What are problems in transfer pricing ?
(e) Explain quality costing.
(f) State reasons for emergence of inflation accounting.
(g) Describe nature of financial management.
(h) Explain operating income approach of capital structure.
(i) Discuss need of corporate restructuring.

() Explain EBIT-EPS analysis. (10x4=40)

10563/50/KD/375/Trans. [P.T.O.



feafafee v # ot s e .

(F) Fv7 TROFA BT WHEE W oTE Hwg

(W) To9 RiFA H 9fTF w1 TR FHm

(M urE wE froee o ® st saEuw
(7)) T q-frafor =Y =1 gt #

(¥) U AN T FEEET

(F) TR T@FT F ST F FRO FawT
(3) Bl wova 1 TER B s FRT

(W) Gt =T # w9em g gfesm w5 gemmE
(§) FRIE T *1 JAEvEFa | T FRm
(3) feheméd-ffew (EBIT-EPS) favdmmr = wwmmey

Discuss significance of responsibility accounting. What are
its fundamental aspects and limitations. 10

T AEEA FOEE™ R TE BN W g
Tee qu e w §7

Explain current purchasing power technique of inflation
Accounting. 10

TERFI SGFT H T GE &0 aHE F GHGE

Write notes on the following :
(a) Value chain analysis.

(b) Methods of divisional performance evaluation.
(5+5=10)

10563/50/KD/375 2

Fefafee w e fafau:
(F) o3 y@en Tavemom
(Q) IFparia wrd-freaes qeares w1 fafuah)

Describe scope of financial management. Discuss how wealth
maximization objectives is superior to profit maximization
objective, 10

foia yavT = &3 =1 9viw Fifsw o=t Fiiee fF gy
FyFam IEYE, WY fyeeAa IR F ogem
= I B

Calculate financial and operating leverage from the following
data ,

Sales(1,00,000 units) T 2,00,000

Variable cost per unit % 0.70

Fixed cost T 65,000

Interest charges T 15,000 10

frefafes swel gr faeie 9o Weem sdem =1 oM
Hier|

fast (1,00,000 TTE) ¥ 2,00,000

e T ofEdw wre 20,70

feer @mm % 65,000

W YF ¥ 15,000

10563/50/KD/375 3 [P.T.O.



8.

Define foreign exchange markets. Who are the participants
in foreign exchange markets ? Explain. 10

fodet fafrmg oo = wRafe $if st fafmg
TR ® whwrh ®W 2 gmmEw

10564/50/KD/842 4

Roll No. .o, Total Pages : 4
MDE/M-18 10564
INTERNATIONAL
BUSINESS ENVIRONMENT

Paper-MCIT-202
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

M : FA UT T F IW A W wEem 1 e #
Compulsory Question ( 31famrd wev)

1. Answer the following in brief (not more than half page) :

(a) Differentiate between international Business and
International Trade. 4

(b) Why it is important to study international Business ?4
(¢) What is theocratic laws ? 4
(d) Discuss the nature of MNCs. 4
(e) Define portfolio investment. 4
(f) Why was GATT replaced by WTO ? 4

(g) Who is heading WTO, UNCTAD, IMF and World
Bank ? 4

(h) Define buffer stock agreement. 4
(i) What is custom union ? 4
4

(5) 'What is the nature of foreign exchange markets.

10564/50/KD/842/Trans. [P.T.O.



= w1 waw § s dfve (o = ¥ sfvw ) ¢

(F) ALY g a0 AREE HAER & §9 FW
AT

(T) AR g AT W HEey #7

(M) SemFfeE frm w82

(M) WTH. (MNCs) F1 TFfa ® == Ffaw

(F) WewfE few w1 whefie S

(@) T (GATT) F T A (WTO) 7 Fi Wi
f&a?

(B) TRAA. (WTO), &I (UNCTAD), R.TH.
TF. (IMF) a1 fovg ¥ & wg@ &1 &7

() Gfem ¥eR §HER # gRe saEu

(%) SRR T o R?

(=) foreft fafrmg st =7 w0yl #2

Discuss the opportunities and challenges being faced by the
Indian business orgrnizations in international business. 10

ANED Zga™ ¥ TRAE =EuE 6O ® 9e
sl qun TR | T @i

Discuss the role of MNCs in Indian economy with suitable
examples. 10

g sefemaed ¥ WRWHL (MNCs) #1 sfgsr =1
IE IO wiew == S

10564/50/KD/842 2

What are different agreements signed by member countries
over a period of time under WTO ? Discuss. 10

TG A (WTO) # dfa, ww fvifa w73 = fo,
T T N FR-9 it weEl | TR Ry am
7 =mEn s

Define generalised system of preferences (GSP). Why is it
adopted ? Why it is not so successful in today's scenario ?
10

wofaemet #1 GERFG yome (GSP) w1 wRanfya
FfT W R A WA R oW % uRgyd W aw
T A b T 87

“NAFTA is the largest regional economic cooperation in the
world.” Explain the statement in detail. 10

“TrRT (NAFTA) fove & wo@ o@1 &5l onfvie weam
2" W wR B fTEREs wHEEw

Why SAFTA is not successful regional economic
cooperation ? What measures would you like to suggest in
this regard ? 10

W (SAFTA) ¥%@ &3 onfts weam = =& #2
W Ezd § o R Sual ® g g o=

10564/50/KD/842 3 [P.T.O.
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MDE/M-18 10566

ONLINE MARKETING
Paper : MCIT-204

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. Question No. 1 is compulsory.

e e ule v S Afvw v g 1 afEd R

1. Compulsory Question

(a)
(b)
()
(@
(e)
()

(@)
(h)

®

)

Give examples of websites using B2C and B2G models.

What is E-brand positioning ?

How can customer needs be identified through

E-marketing ?

Besides search engines, what are various sources of

information to the users on online platforms ?

How can you classify the users of social networking,

say Facebook ?

Does online marketing help in reducing the price to

the customers ?

Are blogs a type of publicity ? Give reasons.

What are banner advertisements displayed on the

websites ?

Are newsrooms an effective method of communication ?

Why ? Why not ?

Name a few important e-retaining websites.
(10x4=40)

10566/50/KD/1601/Trans. [PTO.



(F) s (B2C) 3R 27 (B2G) Hiea #1 3w &
FIAES FT 3T e

(@) -3 = fafs = 8 2

(M e FT TEE F3-TA90R F qeAm | F ww=;
ST T € ?

() T IH F o1, ST WREH W ITaEdied
& fom s ® fafa= o = § 2

(T) Wm eafen & STEMEAe F o9 Y T T
THd €, $EGF FE TFA € 2

(B) Tew & fou ®ma 1 F9 F0@ ¥ F= IHH
fauom werEm w1 2 2

() 1 TAM YUK FH TH FFR T ? FRO FaE0

(F) FaEEd W e 9% o =& & 2

(F) &1 IOFH GUR F1 TF 59 a0F: € 2 = 2 )
& 2 |

(F) B WEEY R TN TWH Al deEES ® AW
FaTEu|

How can marketing research be done online ? Does it yield
similar or better results as obtained by online research ?
Give reasons.

faaom vy AemER R w1 W TEG & 2 T 7 e
WY F R W RO I W ITE Ve WHES = 2 2
FNO FAEY

10566/50/KD/1601 2

How does social networking help in developing precise
market segments ? Explain with the help of examples.

Tafam TR @ve! # fwfos =0 § aafss J2afet 39
HEE F B ? IO W WEEA ¥ SR wf

How are various apps on mobile able to deliver services
without charging anything from the customers ? Which
business model(s) do they use ?

TEH ¥ H£B 9% fFu fan geme w fafrs tm g
WH A H PY T E 7 ¥ PH-¥ EEEE qEe w1
IFM F@ 2

What are various forms of advertisements on internet ?

e R fogTt ¢ fofi= R #= § 2

Can traditional marketing channels serve the purpose in
online marketing ? If yes, how ? If no, what are other
channels used for online marketing ?

T IR fTo Se e frovm ® v & ufeg
R AFA E 2 A w, B 2 gk T @ Homa e ®
fou o= #F-9 99 1 sHEm fFa o § 2

Explain the concept of e-retailing. Is it more efficient means
of selling the product as compared to traditional retailing ?
Give reasons. ,

3-EU fowt F1 STEumOn F A FIY WRTE TR
fart =1 g ¥ SR I=R # gy sfuw e wew #
FRO TARY

10566/50/KD/1601 3
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MDE/M-18 10567

E-COMMERCE AND WEB DESIGNING
Paper-MCIT-205

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. Question No. 1 is compulsory.

e

ol ufe W $ sE A wew "W 1 e R

Compulsory Question ( 3TaTe Wev)

1. Answer the following :

(a) Define C2C and its features.

(b) Name 4 cashless Transaction methods.

(¢) Name 4 Search Engines.

(d) What is Role of Forums ?

(e) What is E-business back-end system ?

(f) Write 4 issues in adopting E-commerce applications.

(g) What is Peer to Peer payment in cyber cash ?

(h) What is card-cost and Non-card cost.

(i) Write 4 application of E-commerce Technology in
Modern scenario.

(j)  What is corporate purchasing ? (4x10=40)

fm 7 s v

(F) C2C 7 zH= fovmarst =1 sfwfeq it
(@) =m %S Ted o fafm # A fafeu

10567/50/KD376/Trans. [P.T.O.



10567/50/KD/376

(M =R 9 T % W fafau

(F) FRE F T g 70

(¥) 3-faome S&-ts fa=m 71 22

() -FE THETH oM § WR wwe fafam)
(B) IR &9 § R T TR PR F OR?

(S FTE @@ qq W FE AR oFAOR?

(F) smyfrr wfige # ¥-FmE % =R erwam fafau
() FE Tz #= T7

Define E-commerce and framework of e-commerce. 10

-HE qel 3-Fmd ® TR F gifym e

Explain prepaid and post-paid E-payment systems. 10
TIT qen TRUE IT-TE YOIl H gEeE

Explain security and Privacy issues related to electronic fund
Transfer. 10
EE BT TR W FeEfud g qg moeEd %
HEE ® HHEET

Explain Back-up procedures and Disaster Management in
E-business. 10

-faog o Sw-o19 wiE den oMuR YRR w1 OHEmeu

134

6. Explain Role of E-banking in modern scenario of Indian
Economy. Discuss various ways. 10
e s # o ufiges ® -SfEm 3 gt
F1 gogenl fafuy=s 90 ¥ 9w

7.  Explain Applications of E-commerce in Direct marketing and
its benefits. 10
vy e ¥ -wiEd ¥ oSy qen e @l #
HRATELI

8.  Write notes on the following :

(a) Smart Card.
(b) Future of E-commerce. 10
frefafes = el fafau .
(F) W FE
(@) I-wmg ¥ 9EF=|
10567/50/KD/376 3



7. Discuss in detail the Gandhian Trusteeship principle and
Triple bottomline approach to CSR. 10

e =nfaa fagid don @R (CSR) # faey
SHAT 'R gfewm W fawge == wifw

8. Critically examine the contribution of CSR. 10

HCEAM (CSR) F IR FT THIGHF TeAFA FI17C)

10568/50/KD/843 4
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MDQ/M-18 10568

BUSINESS ETHICS AND SOCIAL RESPONSIBILITY

Paper-MCIT-401
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

A . H/H Ul T F SN AR W T 1 qhEE #
Compulsory Question ( 27 ad Wy )

1. Answer the following in brief (not more than half page) :

(a) What is the relationship between moral reasoning and

ethics ? 4
(b) What is Egoism theory of ethics ? 4
(¢) What is an ethical organization ? 4
(d) Why there is need of consumer protection ? 4
(e) Discuss the workplace issues related to human

resources. 4
(f) Discuss the role of judiciary in ethics. 4
(g) What is stakeholder approach to CSR ? 4

(h)  Why there is need of CSR in present scenario ? 4

(i) Discuss the social responsibility of business towards
community. 4

() Define CSR as per CSR rules under Companies Act,

2013. 4
10568/50/KD/843/Trans. [P.T.O.



frafafes wooi & dfam TR AT (19 IR ¥ e

T |

(%) ifrF qEOfR q9 FER 9w EEy ¥

(@) $frwaedl w1 erewma fog@ W= oR?

(M) Ak TR T T 2

(%) SO WET F ETEEA = ued ¥

(T) 7S wEE ¥ Fehim wrEem wEens W ouef
Hie

(7) M ¥ =EutEE #1 gfFw | FE wifeg

(®) @R (CSR) #1 fequms gfeswm =0 77

(¥) M 9fETT ¥ HUEAR (CSR) F1 F1 AEvIHA
27

(F) 9991 F W FUR TW ® GEE IHEHTS H
T Hifw

(F) e afufEm, 2013 & @i HLTE.HAR (CSR)
F FER TSR (CSR) H1 IR FART

What is ethical dilemma ? What are the causes of ethical
dilemma ? How can ethical dilemma be resolved ? 10

Y I w87 e gfawiet ® wn wRw €2 Af
o w1 P R A W wEA@ T2

10568/50/KD/843 2

What do you mean by ethical decision making ? Discuss
the Models which helps the manager to take ethical decision.
10

I Fotm § onE w ood 7 Aew frolm oo A
TEUF F WEE FH A HEE W o= Hie

“The role of ethics has been increased in the era of
globalisation”. In the light of the statement what is the
relationship between globalisation and ethics. 10

Y g § Sfraet w1 gfr 9 T ¥
FeoF ® TEW F ST R aReww ok Afrwaet @
@ w FEy ¥

How are business ethics, CSR and corporate governance
interconnected ? What are underlying principles that run
through these ethical threesome ? 10

sEafrE SfaFand, F.UE.3R (CSR) TN FRARE T4
g YFR TR G9g 37 3@ faF fwE ® mem 9
R T e fag| =R

“In the present scenario there is dire need of socially

responsible consumption.” Explain the statement. 10

‘Ao URYem § TOfeE €9 ¥ SHEEl STEM R
TR TEvEEd B T TR H GHEEU

10568/50/KD/843 3 [P.T.O.
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MDQ/M-18 10569

PROJECT PLANNING AND CONTROL
Paper-MCIT-402

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. | is
compulsory. Attempt any four questions from remaining
seven questions.

e ;. F{E U WA F IW AN F TSN T A
T I F WA WA H ¥ WY oUW W ® IW

gifsm)

Compulsory Question ( 37T amd w97 )

ve

1. Attempt all the following Questions in Brief :
(a) Explain main Components of Project Planning.

(b) What factors are Considered in Environmental
Scanning ?

(c) Discuss primary sources of Information for a Project.

(d) Explain Project mix.

(e) State major Cost Components of a Project.

(f) Discuss factors affecting Capital structure of a Project.
(g) Explain Break-even-analysis.

(h) Discuss Profitability Index Method of Project Appraisal.
(i)  What is the need of Social Cost Benefit Analysis ?

() Explain Project Control. (10x4=40)

10569/50/KD/1459/Trans. [P.T.O.



frafafea ot oo % s H@&w § Ofvw .

(F) IR A9 F T TS F o= T

(T) T9&0 HTEF Y FH-§ FRH W R S
Sy

(M TF 9REeT F o T # wufts 96 woas
FIQ

() 3= fagor =1 =en wifw

(T) TF 9RasT & Y9@ @FE e ¥ SRy

() & JREasT #F Y S w1 oy v S
FH w1 faEEm Ff

(B) Y-y favevo F1 =men wifg)

(3) 9N qeaisd F AYEd gEwE Aty | oS
FeT)

(F) FHIfS* & a9 fagerwor =1 wea #7782

(F) o fasm F1 = Fifs

What is Project Feasibility study ? Why it is carried out ?
Discuss the main factors to be considered in project
feasibility study. 10
TfENE SR e w8 wE W TR o 82
TRESH RS e ¥ feR fvr 9R s g
FRE F fgEET Fifaw

What is Market and Demand Analysis ? What is its need ?
Describe the Steps in a Sample Survey. 10
SR AR AT favemw = §0 swE W oavawa
TIA WEET T TN F el S

10569/50/KD/1459 2

n

Explain Technical Analysis. What aspects are covered in
Technical analysis of a Project ? 10

FrArET favemm #1 = Ff ) e $ e
favemn & fF weas w1 wiEe fge W 80

Write a Comprehansive note on Financing schemes of
financial institutions for a Project. 10

R TF 9 " fafau

State importance of Preparing Cash Flow Statement for a
Project by using Imaginary figures. 10
TF 9FET #F o Ty A R e 9w
F1 FAEN FEUTF AFE T IT FE TH IRES
% forw 798 v foam TR

Explain the Payback Period method and Net Present value
method of Project appraisal. 10

AT oA FOGEA o Ry R T
T fafy w1 = Fifw

What do you mean by cost and Time overrun. State the
reasons of Cost and time overrun Problem. Suggest measures
to solve this Problem. 10

A SR W ¥ afuw TR T o aed £ e eiR
T ¥ HUE T F GESN § FRU 9O 39 S
FFA FH F gAE Sfw

10569/50/KD/1459 3
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fafir= oo & Eewify ok famme | # = o wE
F1 A F¥ wafsm w €2

8. "Organisation structure is essentially a choice between
headquarters centralization and local autonomy" ? Discuss.

e FF0 AR T WREad ® d" e
T P w1 § T fawew 87 == wif

10571/50/KD/498 4
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MDQ/M-18 10571

INTERNATIONAL MARKETING
Paper-MCIT-404

Time : Three Hours] [Maximum Marks : 80

Note :

1. An
(a)

(b)
(c)
(d)
(e)

Attempt five questions in all with first question
compulsory (consisting of 10 short questions of 4 marks
each, whose answer should not exceed half page). Attempt
any four questions from the remaining 7 questions of
10 marks each. ‘

FA U T F S AT W gem 1 sfEd R
(fed 10 79 w9 fXu &, woF Wi 4 3% #1 §,
TF YT H SW Y UW ¥ AfuF & g owfsn)
AR FH 7T W W BE Y IR YA F IW LT,
TIF W 10 FF F B

Compulsory Question ( 37F@E™ w97)

swer the following :

Differentiate Export Marketing from International
Marketing.

What is Geo-centricity?
When product adaptation is suitable to follow?
How political risk can be minimised?

What is high context culture?

10571/50/KD/498/Trans. [P.T.O.



(f) Where new product development facility should be 2. What are the different phases of International marketing?

located ? T faam # fafem o s ¥

(g) What is transfer pricing ?
3. Ilustrate the role of governments in promoting national
interests pertaining to international business/marketing,

IS =R faoom @ gefvm as fedt w ow@En
[ F TWER T AR F TR Fif

(h) What are the considerations for choosing channel
partners?

(1) When is it appropriate to use global advertising agency?

() What are pros and cons of licensing as a form of market

entry? 4. What are important product policy decisions required for
frm B T AR _ serving international markets ? Analyse them for their
) suitability.
(%) fraf fauom &1 s faom @ e wifs I TR F WA ® fAU omeveE Wewyr IEE
(@) g-=fEmm 7 &2 Hfa o 7 ¥ T Sugw # fa e favemm
FHife)

() F9 IAR FTHFH oW FA B U Igw R
(9) ToEifeE SifEs = 38 w1 5w W gFa 2 5. How international logistics systems differ in comparison to

when serving in local market?
g [ . ? . .
(¥) 358 wed wepfa @ ¥ v WMHE IR § §ORG B @ e SRsE WX

(%) ¥ T IO e g fem T e ol ® WY ge w #R e e &2
(B) WA e faufor w82 6.

Why is it difficult for international advertising manager to

(F) 7 i =y T ¥ fou fem = #7 use the same media configuration in all markets?

. Tt I # T @ Hfewn MR w1 swEm w1
avwmﬁv ferTen Tofet 1 v N w9 I i P e R e e g 8

(I TR H YEV F Y B oA ® uw-faoy =& 7. mo€.~o<o.w oﬁanmcoa and exchange rate affect the setting
) of prices in different markets?

10571/50/KD/498 2 10571/50/KD/498 3 [P.T.O.



(%) fafy afimm ik fafy oficfer & &= sSe0 =
Y F=R HITT

(@) AFAF F 27 INFaF R R T I
TR WIS

What do you mean by packages in Java ? Explain with
example how packages can be created, imported and used
in Java. 10

IE B TR ¥ AUE = Aaes 22 W ¥ e 9
TAT T FFA €, AW fFT W wwd £ R r=Ee U
W gEY €, THH SR F Y =RA FH

What is an applet ? How parameter is passed to an applet ?
Explain the life cycle of an applet. 10

TF ToR 7 TeR ¥ fou SR $) wim e
s #? T ® SEw 9w § S s

10572/50/KD/1006 4
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Time : Three Hours]

Note :

e

e

Total Pages : 4

10572

MDQ/M-18

PROGRAMMING WITH JAVA
Paper : MCIT-405

[Maximum Marks : 80

Attempt five questions in all. Question No. 1 is
compulsory. Attempt four more questions out of
remaining seven questions.

FA e Y F IR A W wEm 1 oatEr #
T T W W ¥ Y e R O ® I dfm

Compulsory Question ( 3Tf+ard wov )

1. Answer the following questions in brief :

(a)
(b)
©

(d)
(e)

®
(8)
(h)
(i)
@

Difterentiate between final and finally keywords in Java.
What is Byte code ? Why is it required ? Explain.
What is a StringBuffer class and how does it differs
from String class?

Differentiate between JVM and JRE.

What are bitwise operators in Java ? Explain any one
with an example.

What is the role of 'super' keyword in Java ?

What is the use of 'import’ statement in Java ?

What is the use of finalize method in Java? Explain.
Explain any mwo graphics functions used in Applet ?

Differentiate between local and remote applet.
(10x4=40)

10572/50/KD/1006/Trans. [P.T.O.



frefafae s & de8m o S Ofww .

(%) W § A SR TR § ger v @ W e
Fifs)

(@) = FiE 7 L TT T eenaE &2 =ren st

(m fen gw =t 70 ¥ i TE fgn wt ¥ I R
22

(9) AT VM) ¥R FemE (JRE) & 99 =R
Fifs)

(F) 9 ¥ faeamss w71 €2 R ww # sEe
F WY A Hif

(%) 9§ gW’ wEE w1 i w80

(B) 91 ‘g’ YR w1 ITEA FM B2

(W) W& ¥ s ' W oF vzl o oswm s #)

(%) ToR ¥ IWEm A o s fr=d 2 mirew wr
F ST HIC

(F) T R R TER F A9 AR H

What are primitive data types available in Java ? Explain
each with suitable example. Also discuss Date data type with
an example. 10

ST H ISR WM T2 YHER T R? TS W IR
SEAOT F WY N FIWU 82 TI WER H S
RO F WY fFEET W

10572/50/KD/1006 2

(a) What is constructor ? Explain different types of
constructors with examples. 5

(b) What is an array ? How can you declare and initialize
an array ? Explain with examples. 5

(F) frafor =0 27 faf= ToR ® wegEd w1 I
F Y =R FHifo

(@) TF WROT 7 27 U GROM + o9 TR R e
Y T TEE E? TIEO F WY @ Hfwu

What is inheritance ? Take an example of multilevel
inheritance and implement it in Java. 10

FTEA T B GEEOT TOHFH FT TF ST
™ S H oAn w
How do you declare and initialize a string in Java ? Explain

the following string handling functions with suitable
examples :

replace(), compareTo(), valueOf(), charAt() and concat().
10

S 4 TE TN W e ok oTew o oM 39

F? frefafen fen gufan =&t =1 = #ifse

replace(), compareTo(), valueOf(), charAt() and concat().

(a) Differentiate between method overloading and method
overriding with examples. 5

(b) What is interface ? Differentiate between interface and
abstract class. 5

10572/50/KD/1006 3 [P.T.O.



